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Question Number : 1 Question Id : 64635018208 (Question Type : MCQ Option Shuffling : No Display (Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

A teacher gives lot of positive and negative examples to support his / her presentations in the
classroom. This will be related to which level of teaching?

(1) Autonomous development level

(3) Understanding level

Options :

(2) Memory level
4) Reflectivelevel
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64E35071499. 1
64635071500. 2
64635071501. 3
64635071502, 4

Question Number : 1 Question Id : 64635018208 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

646550714399. 1
64635071500. 2
64635071501, 3
64635071502, 4

Question Number : 2 Question Id : 64635018209 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Below are listed some learners’ characteristics. Identify those that help in effective teaching.

(a) Learners’ respect for teacher

(b) Learner’s level of mental ability

(¢) Learner’s previous experiences

(d) Learner’slevel of interest to study

(e) Learner’s level of interpersonal relation
@ Learner’s view about the society

Select your answer from the options given below :

1L (&), {), () and () 2) (o), (), (¢) and (D
@ (@), ®) () and @) @ (b)), (), (d) and (D
Options :

64635071503. 1
64E35071504. 2
64635071505. 3
64635071506, 4

Question Number : 2 Question Id ;: 64635018209 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation ; Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

64635071503. 1
64635071504, 2
64635071505. 3
64E3507 1506, 4

Question Number : 3 Question Id : 64635018210 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Below are given two columns. Column — A lists methods of teaching and Column — B lists the

focus of a method. Match Column — A with Column = B.

Column A Column B
(@ Lecture method (1) Emphasizing the participative procedure
of an act
() Demonstration method (1) Experience based learning
¢) Project method (1) Imparting large amount of knowledge
(d) Collaborative method (v) Students engage in different activities

together and learn
Select your answer from the options given below :
(1) (@-); (b)-au); ©-W); (d-av)
@  (@-0); G)-av); ©-0); d)-qi)
@)  (@-i); G-0; ©-0); @-av)
@  (a-0u); b)-0); ©-0v); d)-0)

Options :
64635071507, 1
64635071508, 2
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64E35071509. 3
64635071510. 4

Question Number : 3 Question Id : 64635018210 (Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :
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1) @-@; ©)-0u); ©-); (D-Gv)
@  (@-0); G)-av); ©-0; d)-)
@  (a-0); b)-0); ©-@); d-av)
@ (a-); O-); ©-0v); -0

Options :

64635071507, 1
64635071508, 2
64635071509, 3
64635071510. 4

Question Number : 4 Question Id ;: 64635018211 Question Type : MC(Q Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Below are listed some activities performed by a teacher. Which activities are of the nature of
formative evaluation?

(@) Giving a mastery test

(b) Conducting quuz session

(¢) Evaluating students in grading system
(d) Prowviding feedback while teaching

(©) Encouraging students reflect more

Select your answer from the options given below :
Q) (a), ®and
@ ®) ©and(d)
@) ®) (D and (e

@ (), (© and(e)
Options :
64635071511, 1
64635071512, 2
64635071513, 3
64635071514, 4

Question Number : 4 Question Id : 64635018211 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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64635071511. 1

64635071512, 2
64E35071513. =3
64635071514, 4

Question Number : 5 Question Id : 64635018212 Question Type : MCQ Option Shuffling : No Display Question Number ; Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks : 0

From the list given below, identify those teaching methods which have a great scope for
dialogic discourses.

(@ Lecture with audio — visual aids

(b) Team teaching

(¢) Tutorials

(d) Problem solving methods

(e) Chalk and talk method
@  Group discussions

Select your answer from the options given below :

() (a), (b)and (c) (2) (0, (d)and
(3) (b)), ) and (e) @ (d), () and ()
Options :

64¢35071515. 1
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B4E35071516. 2
64635071517. 3
646350715183, 4

Question Number : 5 Question Id : 64635018212 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

64635071515. 1
64E35071516. 2
64635071517. 3
646350715138 4

Question Number : 6 Question Id : 64635018213 Question Type : MCQ Option Shuffling : No Display (Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks : 0

supervisor’s certification on the thesis

(1) (Gives name and fame to the supervisor
2) Clears different bottlenecks in the system
(3) Gives weightage to the scholar’s work

(4) Ensures originality of the work

Options :
64635071519, 1

64635071520. 2
64635071521. 3
64635071522, 4

Question Number : 6 Question Id : 64635018213 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
64635071515, 1

64E35071520. 2
64635071521, 3
64635071522, 4

Question Number : 7 Question Id ;: 64635018214 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks : 0

After 1dentifying the different variables and establishing the logical reasoning in theoretical
framework, the next step in the research process is to

(1) Conduct survey (2) Generate hypothesis
3) Focus on group discussion (4) Use experiment in an investigation
Options :

64635071523. 1
64635071524. 2
64635071525. 3
64635071526, 4

Question Number : 7 Question Id : 64635018214 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

64635071523. 1
64635071524, 2
64635071525, 3
64635071526, 4

Question Number : 8§ Question Id : 64635018215 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which stage In research creates a working thesis for the research paper by specifyning and
organizing the category of information?

(1) Research design (2) Developing a hypothesis
(3) Review of literature 4) Analysis of data
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Options :
64635071527, 1

64635071528. 2
B4635071529. 3
64635071530. 4

Question Number : 8 Question Id : 64635018215 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

64635071527. 1
64635071528. 2
64635071529. 3
64E35071520. 4

Question Number : 9 Question Id : 64635018216 Question Type : MC(Q Option Shuffling : No Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Participation in which type of research has the great potential for ensuring the improvement
of the professional as well as work situation?

(1) Fundamental research (2) Applied research
3) Evaluative research (4) Action research
Options :

64635071531. 1
64635071532. 2
64635071533. 3
64635071534, 4

Question Number : 9 Question Id : 64635018216 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

64655071531 1
B4635071532. 2
64635071533. 3
64635071534, 4

Question Number : 10 Question Id : 64635018217 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Reference serves the purpose of
(1) Lending authenticity to the givencontent (2) Insightful decision making
(3) Giving ornamental value totheresearch (4) Exhibiting the great achievement

Options :
64635071535. 1

B4E35071536. 2
64635071537. 3
64635071533, 4

Question Number : 10 Question Id : 64635018217 Question Type : MCQ Option Shuffling : No Display Question Number ; Yes
Single Line Question Option : No Option Orientation ;: Vertical

Correct Marks ;: 2 Wrong Marks :
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Options :

64635071535. 1
64635071536. 2
64635071537. 3
646350715338. 4

Sub-Section Number: 2
Sub-Section Id: 646350887
Question Shuffling Allowed : Yes

Question Id : 64635018218 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (11 to 15)
Question Label : Comprehension
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All great thinkers live and move on a lngh plane of thought. It is only there they can breathe
freely. It is only in contact with spirits like themselves they can live harmonmously and
attain that serenity which comes from ideal companionship. The studies of all great thinkers
must range along the highest altitudes of human thought. 1 have always thought that the
strongest argument 1n favour of the Baconian theory was, that no man, however indubitable
his genius, could have wmitten the plays and sonnets that have come down to us under
shakespeare’s own name who had not the liberal education of Bacon. The magnificent ideals
that have ever haunted the human mind and given us our highest proofs of a future
immortality by reason of the impossibility of their fulfilment here, are splintered into atoms
by cantact with life’s realities. Hence comes our sublime discontent. A habitual mediation on
the vast problems that underline human life and are knit into human destimes — thoughts of
immortality, of the littleness of mere man, of the greatness of man’s soul, of the splendors of
the universe that are invisible to the ordinary traffickers in the street, as the vastness of St.
Peter’s 1s to the spider that weaves her web 1n a corner of the dome—these things do not fit
men to understand the average human being, or tolerate with patience the sordid
wretchedness of the unregenerated masses. It 1s easy to understand, therefore, why such
thinkers fly to the solitude of their own thoughts, or the silent companionship of the
immortals and if they care to present their views in prose or verse to the world, that these
views take a sombre and melancholy setting from “the pale caste of thought” in which they
were engendered.

Sub questions

Question Number : 11 Question Id : 64635018219 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
(Great thinkers are content to live

(1) Amidst crises of civilizations

(2) In lofty thoughts with an exceptional calm

(3) At high altitudes in order to be away from society
(4) With complexities of life and find solutions to them

Options :
64635071539, 1

64635071540. 2
64635071541. 3
64635071542, 4

Question Number : 12 Question Id : 64635018220 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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According to the passage, our sublime discontent is due to

@) Realization of our lack of contact with God
2) Acute sense of loneliness 1in a hostile world

(3) Possibility of immortality through some channels to god and the inability to get hold
of it
4 The contrast between the 1deals in great literature and their opposite in the real life

Options :
64635071543, 1

64635071544. 2
64635071545, 3
64E3507154€. 4

Question Number : 13 Question Id : 64635018221 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Baconian liberal education is

(1) A lofty and 1deal fantasy

(2) Instrumental 1n making human beings rue over their destiny
(3) An engagement with the intricacies of the day to day life

4) Equivalent to ancient ideas of sublimity

Options :
64635071547, 1

646350715438 2
64635071543. 3
64£35071550. 4

Question Number : 14 Question Id : 64635018222 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Immortality is the crucial 1dea constantly being explored by

(1) Ordinary traffickers (2) QGreat thinkers
(3) (Gods who appear to the thinkers (4) Scientists
Options :

64655071551. 1
64635071552, 2
64635071553. 3
64635071554, 4

Question Number : 15 Question Id : 64635018223 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Why do great thinkers love solitude?

(1) To be in pursuit of the 1deal 1n the company of immortals
(2) To spend time 1n peace

(3) Because they are misanthropists

(4) Because the world is unhealthy for them

Options :
64635071555, 1

64635071556. 2
64635071557. 3
64635071553, 4

Question Id : 64635018218 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (11 to 15)
Question Label : Comprehensi-:}n
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Sub questions

Question Number : 11 Question Id : 64635018219 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

64635071535, 1
64635071540. 2
64635071541. 3
64635071542, 4

Question Number : 12 Question Id : 64635018220 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

64635071543, 1
64635071544, 2
64635071545, 3
64635071546, 4

Question Number : 13 Question Id : 64635018221 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

64635071547, 1
64635071548, 2
64635071549, 3
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64635071550, 4

Question Number : 14 Question Id : 64635018222 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

64635071551 1
64635071552, 2
64635071553. 3
64635071554, 4

Question Number : 15 Question Id : 64635018223 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

64635071555, 1
64635071556, 2
64635071557, 3
64635071555, 4

Sub-Section Number: 3
Sub-Section Id: 646350888
Question Shuffling Allowed : Yes

Question Number : 16 Question Id : 64635018224 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Assertion (A) : Communication has the power to inform, persuade and misinform.

Reason (R) : Propaganda blurs the thin line between truth and falsehood to be persuasive.
Choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true, but (R) 1s not the correct explanation of (A)
(3) (A) is true, but (R) 1s false

(4) (A) 1s false, but (R) 1s true
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Options :
64635071559 1

64635071560. 2
64635071561. 3
64635071562, 4

Question Number : 16 Question Id : 64635018224 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

64635071559, 1
64635071560. 2
64635071561. 3
64635071562, 4

Question Number : 17 Question Id : 64635018225 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A basic principle of effective class room commumnication is that one should adapt his or her
OWN to the audience.

Which of the following would replace the gap?

(1) Accent (2) Exterior
3) Message 4) Mannerism
Options :

64635071563. 1
64635071564, 2
64635071565, 3
64635071566, 4

Question Number : 17 Question Id : 64635018225 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

64635071563 1
64635071564, 2
64635071565, 3
64635071566, 4

Question Number : 18 Question Id : 64635018226 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
A key element for effective classroom communication is

(1) Passivity (2) Negativity
(3) Deflection 4) Advocacy
Options :

64635071567 1
646350715638. 2
64E350715€9. 3
64635071570, 4

Question Number : 1§ Question Id : 64635018226 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks : 0

Fal H NI TR H YT a9 3

(1) sk (2) THREHEAT

@ fo=ee @) vH-|UA
Options :

64635071567. 1
646350715638 2
64635071569. 3
64635071570, 4

Question Number : 19 Question Id : 64635018227 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
In communication process, body language 1s associated with

D A culture (2) A movie audience
3 A classroom situation (4) A subject taught

Options :
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64E35071571. 1
64635071572, 2
64635071573. 3
64635071574, 4

Question Number : 19 Question Id : 64635018227 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
T9R vk § I wa s Frefafes o o R wefia 27
(1) S (2) =aAted g
@ e H fda @) wern T e
Options :
64635071571, 1
64635071572, 2

64635071573. 3
64635071574, 4

Question Number : 20 Question Id : 64635018228 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation ;: Vertical

Correct Marks ;: 2 Wrong Marks :
Local and face-to face communication is referred to as

(1) Clinical integration (2) Demonstrative integration
(3) Social integration (4) Spatial integration
Options :

64635071575. 1
64635071576. 2
64635071577. 3
64E35071578. 4

Question Nuinber : 20 Question Id : 64635018228 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

W 3R AT -ATH T=R 6t 9391 Hg1 147 8 ?
(1)  IAges wEhi (2) EEE T
@)  wHIoe Thiem ) AT TR

Options :

64635071575, 1
64635071576, 2
64635071577. 3
64635071573, 4

Question Number : 21 Question Id : 64635018229 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Choose the correct alternative.
Cup 18 to coffee as bowl 1s to ;

(1) Dish. (2) Soup
(3)  Spoon @ Food
Options :

64635071579. 1
64635071580. 2
64635071581. 3
64635071582, 4

Question Number : 21 Question Id : 64635018229 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

wet fasen g« @9 ok wd o St wey R o wey wem ik 7 2l
1) = 2

@) IO @) ISH

Options :

64635071579. 1
64E35071580. 2
64635071581. 3
64635071582, 4

Question Number : 22 Question Id : 64635018230 Question Type : MC(Q Option Shuffling : No Display Question Number ; Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :
The sixth number in a sequence of numbers i1s 32 and each number after the first number in
the sequence is 4 less than the number immediately proceeding it. What is the third number
1n the sequence?

1) 36 (2 40
3 44 4) 48
Options :

64635071583. 1
64635071584 2
64E35071585. 3
64635071586. 4

Question Number : 22 Question Id : 64635018230 Question Type : MC(Q Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

foreh s n H T3 wE 32 2 o 3@ % # vom e % 9 At TS HE 36k I 5
el 4EA1 | 4 %A 3| 36 guen § el qem e 27

1 36 2 40
G 44 @ 48
Options :

64635071583. 1
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64E35071584. 2
64635071585. 3
64635071586. 4

Question Number : 23 Question Id : 64635018231 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In a class, 20% of the boys have blue eyes and 10% of the girls have blue eyes. If the ratio of

boys to girle in the class is 4 : 3, then what 1s the portion of the students 1n the ¢lass having
blue eyes?

(1) 12/ 33 (2) 14/45
3) 11/ 45 @ 11/70
Options :

64635071587, 1
64635071588. 2
6463507158%9. 3
646350715390. 4

Question Number : 23 Question Id : 64635018231 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
forft wan ® 20% agwl A @ At 7 oM 10% ahdl B od et 21 A war H wEH oiv
refeRdt #1 o 4 : 3 Rt wen H et @ o ferenfdfat @ shw w27

1) 1233 @) 14/45
@ 1145 @ 11470
Options :

64635071587. 1
64635071588. 2
64635071589. 3
64635071590. 4

Question Number : 24 Question Id : 64635018232 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

During one year, the population of a town increased by 5% and during the next year, the
population decreased by 5%. If the total population 1s 29925 at the end of the second year,
then what was the population size in the beginning of the first year?

(1) 25000 (2) 30000
) 33000 4) 36000
Options :

646350715391 1
64635071592, 2
64635071593. 3
64635071594, 4
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Question Numnber : 24 Question Id : 64635018232 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

forelt T it SEE ° TH A 5% it gig @ R T 9 SEEn ° 5% # fee o) Afg g o
¥ 3id B T T 29925 B @1 Yo @ o+ o # frart sEE ot ?

1) 25000 (2) 30000
@ 33000 4) 36000
Options :

64£35071591. 1
64635071592, 2
64635071593. 3
64635071594, 4

Question Number : 25 Question Id : 64635018233 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The simple interest on a certain sum of money at the rate of 5% p.a. for four years is Rs. 420.
At what rate of interest, the same amount of interest can be received on the same sum after
two and half years?

Q) 4% 2 6%
) &% @ 10%
Options :

646550715395. 1
64635071596. 2
64635071597. 3
646350715938, 4

Question Number : 25 Question Id : 64635018233 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

o RS % F AT AU AN 420 TR A P AN A RIAN R TN R EIB TN &
Ty SO < Sat A uf¥n < S weRedt 27

L 4% 2) 6%
@) &% @ 10%
Options :

646350715895 1
B4E35071596, 2
64635071597. 3
64635071593, 4

Question Number : 26 Question Id : 64635018234 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation ;: Vertical

Correct Marks : 2 Wrong Marks : 0
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‘All children are not greedy 1s an example of which proposition?

(1) Universal Affirmative (2) Universal Negative
3) Particular affirmative 4) Particular Negative
Options :

64635071599. 1
64635071600. 2
64635071601. 3
64635071602, 4

Question Number : 26 Question Id : 64635018234 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

st == oo T8 31 7 foem ok T EEwm R

(1)  wEdiEs sftaas (2) HTEITTER ATiCaaT=n
@) faBr sftdeass @) fafse sifcdamss
Options :

64635071599. 1
64635071600. 2
64635071601. 3
64635071602, 4

Question Number : 27 Question Id : 64635018235 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The argument which claims that its conclusion is conclusively supported by its premises is
called

(L) Analogical Argument (2) Inductive Argument
3) Demonstrative Argument (4) Deductive Argument
Options :

64635071603. 1
64E35071604. 2
64635071605, 3
64635071606, 4

Question Number : 27 Question Id : 64635018235 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks : 0

o2 %, fat 30 9 T s fe s 2 T Sl am freed enenfemedi g oofa: e 2, e 2
(1)  WCIIUEh dh (2) AMETTS

3)  JeTik @ e T

Options :
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64E35071603. 1
64635071604, 2
64635071605. 3
64635071606, 4

Question Number : 28 Question Id : 64635018236 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In a school, there are five teachers. A and B both are teaching Hindi and English. C and B

both are teaching English and Geography. D and A both are teaching Punjab and Hindi. E
and B both are teaching History and French

Who among the teachers 1s teaching maximum number of subjects?

L A (2 B
(3) D 4 CandE
Options :

64635071607. 1
64635071603. 2
64635071603. 3
64635071610. 4

Question Number : 28 Question Id : 64635018236 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

fordt foemo § i ereamaee 21 A ST B gt &= ot omish @t e v @ #1 C ofi B St SiSh
ofie yirer 1 frewr v | w ¥ D ok A 1 W ofk f=d o fewr v | @ 1 E of B @i
i @i e w1 B W@ 3

3 TS 1§ 8 B A=H Altmwnan foavg = fem sE M @27

1 A 2 B
@ D 4 CE
Options :

64635071607. 1
64635071603. 2
64635071603. 3
64E35071610. 4

Question Number : 29 Question Id : 64635018237 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Consider the example provided below :

“There 1s no jar now on the ground”

Identify the means of knowledge (Pramana) involved in the example from the options given
below :

(1) Anupalabdhi (2) Arthapatti
(3) Pratyaksha 4) Anumana
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Options :
64635071611, 1

64635071612, 2
64635071613. 3
64635071614. 4

Question Number : 29 Question Id : 64635018237 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

f9 fe MU SeEm W foem Fifw,
“ o SHF W PE ue (W) 7@ 2
Hie o MU fyen § ¥ 9 SR YR 39 0§ i 9 (Ymon) % mer 6 ugeE i
(1)  orTary (2) S
3 Y= 4) ST
Options :

64E35071611. 1
64635071612, 2
64635071613. 3
64635071614, 4

Question Number : 30 Question Id : 64635018238 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Consider the argument given below :

“Sound 1s permanent because it 1s audible”

Identify the fallacy involved in the above argument on the basis of Indian logic from the
options given below :

(1) Fallacy of trivial reason
2 Fallacy of irrelevant reason

3) Fallacy of contradictory reason

4) Fallacy of wrong assertion
Options :
64635071615, 1
64635071616, 2
64635071617. 3
64635071615, 4

Question Number : 30 Question Id : 64635018238 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
64635071615, 1

64635071616. 2
B64E35071617. =
64635071613 4

Sub-Section Number: 4
Sub-Section Id; 646350889
Question Shuffling Allowed : Yes

Question Id : 64635018239 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions ;: No

Question Numbers ; (31 to 35)
Question Label : Comprehensi-:sn

Consider the following table that shows the percentage (%) distribution of population of six
cities A-F, ratio of males to females and the percentage (%) of adult population in these

cities. Total population of these six cities 1s 24 lakhs. In accordance with the table, answer
the questions that follow (Questions 31 - 35) :

Population city wise
City % of population Male: Female % Adult
A 21 4:3 60
B 18 B4 64
C 16 Bl T2
D 20 2:3 70
E 10 1:1 75
F 15 3:2 65

Sub questions

Question Number : 31 Question Id : 64635018240 Question Type : MC(Q Option Shuffling : No Display Question Number ;: Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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What is the total number of male population in City D?

(1) 1.88 lakh (2) 1.92lakh
(3) 1.96 lakh 4) 2.04lakh
Options :

64635071613. 1
64635071620. 2
64635071621. 3
64635071622, 4

Question Number : 32 Question Id : 64635018241 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
What is the number of persons in City C who are not adult?

(1) 107520 (2) 108410
3) 109560 4) 110800
Options :

64635071623. 1
64635071624, 2
64635071625, 3
64635071626, 4

Question Number : 33 Question Id : 64635018242 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
What 1s the difference between the number of males and the number of females 1n City B?

(1) 42000 (2) 44000
(3) 45000 4) 48000
Options :

64635071627 1
646350716238. 2
64635071623. 3
64635071630. 4

Question Number : 34 Question Id : 64635018243 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
The number of adults in City E 1s what percent of the number of males in City D?

(1) 82.5% (2) 87.75%
(3) 92.5 % 4 93.75%
Options :

64635071631 1
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B4E35071622. 2
64635071633. 3
64635071634, 4

Question Number : 35 Question Id : 64635018244 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
What 1s the number of persons of City F who are adult?

(1) 232000 (2) 230000
(3) 234000 4) 242000
Options :

64635071635. 1
64635071636. 2
64635071637. 3
64E35071628. 4

Question Id : 64635018239 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (31 to 35)
Question Label : Comprehensi-::zn

fretafas aifom el o8 7= A - F & Ssoen &1 vfama e, gow ot ofgen e ot 3
v&ll # ot safwedt w1 gfawm gt men }, W fomm feshe) 37 97 W=l i Fa sEE 24 9@ R
TR & STTAR 999 & 31-35 % =R foofie

TR - SHHEE
TR SRS ® % QRN Algen % 9O
A 21 4:3 60
B 18 5:4 64
C 16 5:8 72
D 20 2:3 70
E 10 1:1 5
F 15 3:2 65

Sub questions

Question Number : 31 Question Id : 64635018240 Question Type : MCQ Option Shuffling : No Display Question Number ; Yes
Single Line Question Option : No Option Orientation ;: Vertical

Correct Marks ;: 2 Wrong Marks :

D-3R T oY & Fe1 TEE 37

(1) 1.88 A& (2) 1.929&
@) l96d@m@ @ 204G
Options :

6463507161%3. 1
64635071620. 2
64635071621. 3
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64635071622, 4

Question Number : 32 Question Id : 64635018241 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

C-3 1§ 37 =ARedl 6t g foraft 2 S 9o 781 27

(1) 107520 (2) 108410
(3) 109560 (@) 110800
Options :

64635071623. 1
64635071624, 2
B4E35071625. 3
64635071626, 4

Question Number : 33 Question Id : 64635018242 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation ;: Vertical

Correct Marks ;: 2 Wrong Marks :

B-12t ¥ 769 iR ufgan h @@ 1 fGeam s 27

(1) 42000 (2) 44000
(3) 45000 4 48000
Options :

64635071627. 1
64635071623, 2
64635071623. 3
64635071630. 4

Question Number : 34 Question Id : 64635018243 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

D-¥gt § Geul hl Fal a1 H foha Tfawd E-v | 9956 37

(1) 82.5 % 2 87.75%
(3) 92.5 % 4 93.75%
Options :

64E35071621. 1
64635071632, 2
64635071633. 3
64635071634, 4

Question Number : 35 Question Id : 64635018244 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(1) 232000 (2) 230000
(3) 234000 4) 242000
Options :

64655071635. 1
64635071636. 2
64635071637. 3
646350716338. 4

Sub-Section Number: 5
Sub-Section Id: 64635089{)
Question Shuffling Allowed : Yes

Question Number : 36 Question Id : 64635018245 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

You need to use automatic calculations in preparing a budget. Which software application
should be used?

(1)  Spreadsheet (2) Presentation
(3) Word processing (4) Desktop publishing
Options :

64635071633. 1
64635071640. 2
64£35071641. 2
64635071642, 4

Question Number : 36 Question Id : 64635018245 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Optiun Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

mmﬁmmmmm%lmmmﬁmmm%mmmﬁq?

1 Sk @ R
@ I8 aEfEm @) TEwe Tfefm
Options :

64655071639. 1
64635071640. 2
64635071641. 3
64E35071642. 4

Question Number : 37 Question Id : 64635018246 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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In the context of IT/ICT, which one of the following statements about spamming is true?

(1) Spamming 1s posting or e-mailing unsolicited advertising messages to a wide
audience

(2) Spamming 1s sending lines of nonsensical garbage 1n a chat conversation
3) Spamming 1s posting a message that contains graphic description of something
offensive

4) Spamming is an attempt to acquire sensitive information for malicious reasons, by
masquerading as trustworthy entity

Options :
64635071643, 1

64635071644, 2
64635071645, 3
64635071646, 4

Question Number : 37 Question Id : 64635018246 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

TTYICT % @esd o, Tafim & s o i Fom adt 27

Q) i oS dem H dmett wt st s wew 95 W 3% 3-0a S0 2|
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@) T IR HeW % e w8, e Rl saiiers aw st 2

(4) A fag@ uE Safe % W 1 oa wE = gHEEgel HROT ¥ Had A1 A A 2l

Options :
64635071643, 1

64635071644, 2
64635071645, 3
64635071646, 4

Question Number : 38 Question Id : 64635018247 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A virus type that is capable of transferring from one computer to another without any “user
mnteraction’ 1s known as

(1) Worm (2) Troan
3)  Key logging (4) Boot sector virus
Options :

64635071647 1
64635071643. 2
64635071643. 3
64635071650. 4

Question Number : 38 Question Id : 64635018247 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

64635071647 1
64635071643. 2
64635071643, 3
64635071650, 4

Question Number : 39 Question Id : 64635018248 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which statement is true about Random Access Memory (RAM) in a computer system?

(1) RAM i1s non-volatile and the amount of RAM in a computer system cannot affect its
performance

) RAM 1is non-volatile and the amount of RAM in a computer system can affect its
performance

3) RAM is volatile and the amount of RAM in a computer cannot affect its performance

4) RAM is volatile and the amount of RAM in a computer system can affect its
performance

Options :
64635071651, 1

64635071652, 2
64635071653. 3
64635071654. 4

Question Number : 39 Question Id : 64635018248 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Random Access Memory (RAM) & 9t § Ffafiga 0 & <19 @1 %= u= 2:
(1) RAM i@ 2 ofit g fawen o RAM 6t Aon & 39 & fFroqmes venfea =t 2 21
2  RAM smuiEd-ig 3 o X fawen § RAM 6t o @ 3ues $r foames wonfea 3 21

@) RAM UitEdHg 8 it o Ben & RAM i orn ¥ 366 & e wwnfaga =i 2 ahar
2l

@)  RAM REdHE 3 3R S fem § RAM &t A § 3961 %1 (e e g wekan 2|

Options :
64635071651, 1

64635071652, 2
64635071653. 3
64E35071654. 4
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Question Number : 40 Question Id : 64635018249 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
What 1s the binary equivalent of decimal number 757

(1) 1101001 (2) 101001
(3) 100101 (4) 1001011
Options :

64635071655. 1
64E3507165E. 2
64635071657. 3
646350716538 4

Question Number : 40 Question Id : 64635018249 Question Type : MC(Q Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks : 0

ea aEat 75 i fg-snurh smgeais v 27

1) 1101001 (2) 101001
(3 100101 (4) 1001011
Options :

64635071655. 1
64635071656. 2
64635071657. 3
646350716538, 4

Question Number : 41 Question Id : 64635018250 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
The target set by Indian government for power from roof-top solar installations by the year
2022 1s

(1) 40.0 GW (2) 50.0GW
3) 60.0 GW 4 100.0GW
Options :

6463507165%9. 1
64635071660. 2
64635071661. 3
B4E350716€2. 4

Question Number : 41 Question Id : 64635018250 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(1)  40.0 Trmane ) 50.0 e
)  60.0 TETR (4) 100.0 MTETe
Options :

6463507165%9. 1
64635071660. 2
64635071661, 3
64635071662, 4

Question Number : 42 Question Id : 64635018251 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
How many National Missions of Indian Government are there to address the problem of
climate change?

1 6 (2 8
@ 12 @ 17
Options :

64E350716€63. 1
64635071664, 2
64635071665, 3
64635071666, 4

Question Number : 42 Question Id : 64635018251 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

STTAT Tiee i THEAT o AN $ {0 ARG 9ER & fhaw age e 37

1 86 (2 8
@ 12 @ 7
Options :

64635071663. 1
64E350716€64. 2
64635071665, 3
64635071666, 4

Question Number : 43 Question Id : 64635018252 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

Which of the following types of energy sources employ direct energy conversion process to
produce electricity?

(1) Biomass (2) Wind
(3) Geothermal 4) Nuclear

Options :
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B4E35071667. 1
64635071663 2
64635071663. 3
64635071670, 4

Question Number : 43 Question Id : 64635018252 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

frferfien # B o 3o B 1 A f TeET § St Hiad ¥ for fe o 27

(1)  wEmE 2) 97
@ S @) g
Options :

64E350716€7. 1
646350716638, 2
64635071663, 3
64635071670, 4

Question Number : 44 Question Id : 64635018253 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
A geothermal reserve has the stored heat of 5 x 10%J. If the over all efficiency of a
geothermal power plant based on this reserve is 0.04, how much power can be produced by
the plant in 1 year?

1) ~0.32GW @) ~064GW
@) ~2620GW @ ~63.41GW
Options :

64635071671. 1
64635071672, 2
64635071673. 3
64635071674, 4

Question Number : 44 Question Id : 64635018253 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

fereft spmiardiar amdarfa # 5 x 1010 q9 @7 21 3¢ 39 ArfEia % enun W et y-ardia faga
w=g 6 T amar 0.04 2 @1 3@ =g A 1 9% h wmaEta # e faga 39— S wwar 27

1) ~0.32 MrER @) ~0.64TmER
B ~2627MMERE @ ~63.41 Mmar
Options :

64635071671, 1
64635071672, 2
64635071673. 3
64635071674, 4
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Question Numnber : 45 Question Id : 64635018254 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which of the following materials is widely used in solar cell fabrication?

(1) Nubidium (2) Silicon
3 Nickel 4 Chromium
Options :

64635071675, 1
64635071676, 2
64635071677. 3
64635071673. 4

Question Number : 45 Question Id : 64635018254 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

TR e Fmiv § =9k ¥9 9 TR 9T R

(1) etsam (2) fafasa
® e @ shiftEm
Options :

64635071675, 1
64635071676, 2
64E35071677. 3
64635071673, 4

Question Number : 46 Question Id : 64635018255 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks : 0

The introduction of MOOC in open and distance learning programmes is justified because of
its

(1) Low cost considerations (2) Accessibility considerations
3) Speed considerations 4) Novelty considerations
Options :

64635071673. 1
64635071680. 2
64635071681. 3
64635071682, 4

Question Number : 46 Question Id : 64635018255 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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T 2R gy i W § MOOC &t JHias =Imaitee 2

(1) FTATK & MEYR W (2) HARTM=ET % UM W
@)  Tid % MR W () TIER F AER T
Options :

64635071673. 1
64635071680. 2
64635071681. 3
64635071682, 4

Question Number : 47 Question Id : 64635018256 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

“Gyan Darshan” launched by IGNOU refers to which one of the following?

(1) Satellite based educational T.V. Channel
2) Educational FM radio network
3) Global imitiative of Academic networks

4) Online courses
Options :

64635071683, 1
646350716384, 2
64635071685, 3
64635071686, 4

Question Number : 47 Question Id : 64635018256 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

ﬂWW“ﬁFﬂTWW@h%:—

(1) I enutia oy & 6 5w
@ el T @ isa T

@)  TwE Jeas 6 Afvas wEa
@) AT ISR

Options :

64635071633, 1
64635071634, 2
64635071635, 3
64635071686, 4

Question Numnber : 48 Question Id : 64635018257 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Through which Act University Grants Commission came into existence?

(1) UGC Act — 1956
(2) UGC Act — 1949
@)  UGC Act — 1944
4  UGC Act — 1968

Options :
64635071687, 1

64635071683 2
6463507168%9. 3
64E35071690. 4

Question Numnber : 48 Question Id : 64635018257 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

fevafaemem orem e it weme fha stftfem & onefi gf ofi?

(1) Tovafaemas eggm M sturEm 1956
@) {avalaemed oHEr o srtufam 1949
@) favafaemas orem mam sifaftEm 1944
@ Tavateenem STEH M SAuFET 1968

Options :
64635071687, 1

64635071683. 2
64635071683. 3
64635071690, 4

Question Number : 49 Question Id : 64635018258 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which one of the following mstitutions was established as a consequence to the closure of

Inter-Umiversity Board brought in for promotion of cooperation among the Universities in
the field of education and allied areas?

(1)  Association of Central Universities
2 University Grants Commission

(3 IIAS, Shimla

(4)  Association of Indian Universities

Options :
64635071691, 1
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B4E35071692. 2
64635071633. 3
64635071694, 4

Question Number : 49 Question Id : 64635018258 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
foan ok weg & A faf= favafenadl & ner wsdm 9 Sgm@n 37 % fou owa: famafaemes @i &
g 31 % Horaey fFefalga T B fem deen A wm 6t w7

(1) TEREE e Ha IFahds
@  Tavaiamnerd g STEm

(3) AR, 13, € uw. e
@  HifaeEE o 3 gietadm

Options :
64635071691. 1

646350716392, 2
64635071633. 3
64635071694, 4

Question Number : 50 Question Id : 64635018259 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks : 0

Which of the following instructional designs i1s part of SWAY AM launched by Government of
India?

@) BE-Tutorial

(i) E-Content

(1) Assessment

@v)  Discussion Forum

W) Classroom teaching

Choose the correct option from below

(1) @) and @i) only

@ @, @i), v) and (v) only
(3) 1), (1), (11) and (iv) only
4) (111) and (v) only

Options :
64635071695, 1
646350716596, 2
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B4E35071697. 3
64635071693. 4

Question Number : 50 Question Id : 64635018259 Question Type : MCQ Option Shuffling : No Display Question Number ;: Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

RA TERR g I8 T T @&T (SWAYAM) 1 STIESICH® SI1ehed 3
@  3-cetEa

@) 3 e

@)  ompeA

iv) TmerE

(v) PN R

4= fo e fomeew # @ R I g

(1)  aa [@) 3R (i)

@ %A Q), i), (v) MM @)
@)  waa @), Gi), Gii) 3R Gv)
@ @) %Fa W )

Options :
64635071695, 1

64635071636. 2
64E35071697. 3
64635071693, 4

PART II Population Studies

Section Id : 646350398

Section Number : 2

Section type : Online

Mandatory or Optional: Mandatory

Number of Questions: 86

Number of Questions to be attempted: 86

Section Marks: 2010

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 646350891

Question Shuffling Allowed : Yes
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Question Id : 64635018260 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (51 to 55)
Question Label : CDmprehensi-:}n

Direction : Answer on the basis of the following paragraph :

Population ageing is a worldwide phenomenon, owing first to declining fertility rates and
second to increased life expectancy. In every region of the world. women are having fewer
children than three decades ago. In the early 1970s. the total fertility rate worldwide was
estimated at 45 children for each woman, compared with 2-7 in 2000.

At the same time, advances in nutrition, medicine and lifestyle have resulted in people living
longer. Life expectancy worldwide increased from 45 years in 1945 to 70 years in 2000 and

is projected to reach 80 wyears by 2050. Nearly one in four persons will be over 60 years old
for the first time in history, they will outnumber children.

In nearly all countries, women live longer than men. The gap can be as much as 10-5 vearsin
Eastern Europe, and as low as 3 vears in South Central Asia. Women make up 55 percent of
older people globally. Although the proportion of older people to vounger ones is currently
higher in developed countries, the demographics of ageing are such that by 2025, 75 percent
of the 1-2 billion people over 60 years old will live in developing countries.

Widowhood for women over age 60 is most prevalent in Northem Africa and Central Asia
and lowest in Latin America. About 10 percent of women in India are widows. Widowers do
not suffer the social stigma, restrictions and taboos associated with widows. Widow
rematriages are also restricted than the remamiages among the widower.

(Source : Based on Gender Dimensions of Agemng, (Apnl, 2002)by UN Division
for the Advancement of Women, Department of Economic and Social Affairs,
dowmnloaded on 15th February, 2019)

Sub questions

Question Number : 51 Question Id : 64635018261 Question Type : MC(Q Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks : 0
Which among the following processes has resulted into population ageing?

1.  Declining fertility
2. Declining mortality
3. Increasein life expectancy

4.  Decrease in fertility along with increase in longevity
Options :
64635071695, 1
84635071700, 2
64635071701, 3
64635071702, 4

Question Number : 52 Question Id : 64635018262 Question Type : MCQ Option Shuffling : No Display Question Number ; Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Which among the following provides the correct male-to-female ratio among the aged

population?
1. 45:55
2. 50:30
3. 35:45
4. 60:40
Options :

64635071703. 1
64635071704, 2
64635071705, 3
64635071706, 4

Question Number : 53 Question Id : 64635018263 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which of the following is the decadal improvement in the projected life expectancy

between 2000 and 20507
1. 1 vyear
2. 2 vyears
3. 3 years
4. 4years
Options :

64635071707. 1
646350717038. 2
64E35071709. 3
64635071710. 4

Question Number : 54 Question Id : 64635018264 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks : 0
What will be the size of the old population of the developing countries by 20257

1. 0-3 billion

2. 0-6billion

3. 0-9hbillion

4. 1-0billion
Options :

64635071711. 1
64635071712, 2
64635071713. 3
64635071714. 4
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Question Number : 55 Question Id : 64635018265 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which among the following regions has lowest prevalence of widowhood?

1. North America
2. Central Asia
3. Eastem Asia
4. Latin America

Options :
64635071715, 1

64635071716, 2
64635071717. 3
646350717138. 4

Question Id : 64635018260 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (51 to 55)
Question Label : Comprehensi-:::n

[Fe=r:  fau T IR & SMYR W WY & IR gifoig ;

IRl FHE foy =R 8 W 8 SHH1 Ugal SR °dl ol Uoi+ o3 8 SR g1 SR §el
gl Siigera ol 7Y & vds o & aftensi @1 Safa = Sem dF a=e od aoi @1 0ed $4
21 T 1970 & RiYF gue & @ oy ¥ $d Uoi- &% Ud® afedl & [R17 4.5 siiet 71 U1 Sefe
a§ 2000 & 7% BT 2.7 & T B

SO TIY-1Y, G0l S o7 St [ & offiaf& g9 & woRasy arl 3f g & Sgiad g% ol
aY 1945 H ORIl 9% TR W Sligera 45 99 U1, 95 9§ 2000 H §ga 70 99 & 74T 3R 98 2050 T
$9% 80 94 d% Uga- @t GHIEHT o1 Sfagra & 91 ugell R g % IR sufaaai & @ o st
60 T F Tl ST F1 I 3R I Sl F=1 ° i gl

ey i IR | afgemel #1 oy 9ol ¥ ofie Sl 81 S99 S &1 ok gai gig F 10,5 a9
a® $I iR cfénr wea ok # 3 9 o @1 g 9 81 R oy ¥ o0 gg sfsat & afgmst @1
SEEd||

55 IR &1 T9Ii g cufaa <R gar safad @1 S faeha =i & oifie 2 quift oo safsl ot
&I 5 o fob o 2025 T farasita <=if 7 1.2 faferr= i § 9§ 75 wid=rd 60 99 9 sifde® oy
& T Gl |

60 T8 ¥ FWR PI 1Y # [va g archl wigerel #1 e 3ad srfve ok 7w uftmn & waiftis g
Sl dfer ot & St WO <gAa &1 YRd H TRIYT 10 Uiasa afsen? fauar 81 fasr
e e, waay, Fey-Faa T8 ara g R st @ tera gsa g1 R & s
& Bt erde favar grfdars o ufasfia g

(I : Higenaii o1 wild & PiE 9. 3 w4 e IR gmfes o/ faur gRi aa
TR-ART A (A9, 2002) U= AT, (15 WA, 2019 B SEAAIS

Sub questions

Question Number : 51 Question Id : 64635018261 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

64635071699,

1

64635071700, 2
64635071701, 3
64635071702, 4
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Question Number : 52 Question Id : 64635018262 Question Type : MC(Q Option Shuffling : No Display Question Number : Yes

Single Line Question Option : Ne Option Orientation : Vertical
Correct Marks ;: 2 Wrong Marks : 0

g & i g cufaqal & 98 gou-Afee siguid 82

1. 45:

2. 350

3. 55

4. 60:

Options :

64635071703.
64635071704,
64635071705,
64635071706,

55

- 50

45

40

B WM

Question Number : 33 Question Id : 64635018263 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

a4 2000 3R 2050 F &9 FAING SiaEe & U@ g¥@ | g arel sifvglg Fo d o=

87
1. 199
2. 299
3. 39§
4. 499
Options :
64635071707, 1

64635071708. 2
64635071703, 3
64635071710. 4
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Question Numnber : 54 Question Id : 64635018264 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

a4 2025 7% fGeToRiT <= & g& oufaadl o S a1 grit?

1. 0-3faRrm

2. 0-6 fsRm=

3. 0-9 i@

4. 1-0 TSl
Options :

64655071711. 1
64635071712. 2
64635071713. 3
64635071714, 4

Question Number : 35 Question Id : 64635018265 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

ol 33 oy &3 & fRnmsl S Sen Tsa wa &7

1. Il AT

2. "EURm

3. Ol giREn

4. e aEia
Options ;

64635071715. 1
64635071716. 2
64635071717. 3
64635071713. 4

Sub-Section Number: 2
Sub-Section Id: 646350892
Question Shuffling Allowed : Yes

Question Number : 36 Question Id : 64635018266 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Match the methods of appraisal and adjustment of demographic data given in List—I
with the Authors/Agency. which developed the method given in List—II :

List-1
(a) Preference of numerical digits (i)
(b) Heaping at age 0 and 5 (ii)
(c) Sex bias in age reporting (1)
(d) Smoothing of single year age (iv)

List—II
UN Index
Myers™ Index
Whipple’s Index

Zelnik’s method

Choose the correct answer from the codes given below :

1. @) (b)) (c-G) (d-iv)
2. (@yv); (o)) (c)-u); (d)-Q)
3. (i) b)) (c-@); (d)-v)

4. (@) (0)@v); (©-0): (d-@
Options :
64635071718. 1
64635071720. 2
64635071721. 3
64635071722. 4
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Question Number : 56 Question Id : 64635018266 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0
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-1 § Iff@a sHifee siesl & geuied R JH/™eH 3 9afa & -1 &

Siarad Afdares/goldl 3§ FHleH Sifoy
LGl -1
(a) WifSm®a slies DI AR G 9 Esie
(b) 3R 0 3T 5 HT AEIH (i) TR YEDS
() wirdeTeT amy & oifiTe s (i) fRUR gESi®

(d) U Iy Mg & WA (G SIS (iv)  Siei-e Ay

dix leY U P & 981 S gy

1. (@G (o)) (e)-@): (d)-iv)
2. (@HGv) (b)) (D) (dD)
3. (@D); (b)) () (d)-Gv)
4. (@) (b)-av): (e-0): (d)-()

Options :
64635071719, 1

64635071720. 2
64635071721. 3
64635071722, 4

Question Number : 57 Question Id : 64635018267 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
In which of the following vears DLHS-3 was carried out?

1. 2005-2006

2. 2006-2007

3. 2007-2008

4. 2008-2009
Options :

64635071723. 1
64635071724. 2
64635071725, 3
64635071726, 4

Question Number : 57 Question Id : 64635018267 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Fofafag § S feg o DLHS-3 T4 foar man ur?

1. 2005-2006

2. 2006-2007

3. 2007-2008

4. 2008-2009
Options :

64635071723. 1
64635071724, 2
64635071725. 3
64635071726, 4

Question Number : 58 Question Id : 64635018268 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Ideally, the denominator for computation of crude birth rate should be person-vears
lived in the year but we use average population of the year. Which one of the following
is the cormrect reason?

1. Person-years lived = Average population
2. Itis easy tocalculate "average population’
3.  Data for computation of "person-years lived’ is not available

4. Statement made in the question is not correct

Options :
64635071727, 1

64635071728. 2
64635071729. 3
64635071730, 4

Question Number : 58 Question Id : 64635018268 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

aeRf fRUft & SR S=IYT 976 &3 31 UM ST SEYRS Hfad i 31 94 & YR |
a1 g1fet foomg 59 o {98 #1 ofid SSe &1 W &d &1 S9%1 Jel ®RU fAafafad &
Q1 77

1. ohifea safeg-ad’ = i e

2. ofd SHHE &1 UG T ST S 8
3. oofa-ad &1 uftea-siesT Sudsy T R
4. wyESeRamAT TSR

Options :
64635071727, 1

64635071728. 2
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B4E35071729. 3
64635071730. 4

Question Number : 59 Question Id : 64635018269 Question Type : MCQ Option Shuffling : No Display Question Number ; Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

Which among the following options lists four fertility indicators—(a) Total Marital
Fertility Rate (TMFR). (b) General Fertility Rate (GFR), (c) Crude Birth Rate (CBR),
and (d) Total Fertility Rate (TFR) according to their robustness in measuring fertility
(most sensitive to least sensitive)?

1. TMEFR, TFR, GFR, CBR
2.  TFR. TMFR. GFR.CBR
3. GFR,TMFR, TFR. CBR

4. TFR, GFR, TMER, CBR
Options :
64635071731, 1
64635071732, 2
64635071733. 3
646350717234, 4

Question Number : 59 Question Id : 64635018269 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

frafafaa § 3 $1-91 fAed Yol S8 IR Saaie! (2) $ dalied WorH a2 (€. T,
TP, 31R), (b) NI Hoi-1 <X (Sil. TP, 3R) (c) SRMIYT o+ <X (& &1 3R) 3R (d) $9
Yo X (S, TP, 3(R) Si Yol & A9 H 391 Teied] o1 9el HH (Sif¥edd IdeI=iT

Y gH Gagia Bl 30 SRiian &7
1. 3104 U R, 3. U6, AR, off. 7. o), 4t sl 3R

2. .U, R . UH U6, AR, off. U, oR, . &t AR
3. Gl U%. 3T, I, UH, TF, 3R, <1, U, 3R, 1. 8. 3R

4. 91U, AR, ol UF. 3R, I, TH, UF AR, 9. &1, 3R
Options :
64635071731, 1
64635071732, 2
64635071733 3
64635071734 4

Question Number : 60 Question Id : 64635018270 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Societal differences are least prominent in
1. Sex ratio at birth

2. Miscamriages and foetal losses
3.  Sex differentials in voung childhood

4. Sex differentials in adult age groups
Options :
64635071735, 1
64635071736, 2
64635071737. 3
646350717383, 4

Question Number : 60 Question Id : 64635018270 Question Type : MCQ Option Shuffling : No Display Question Number ; Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks : 0

Fuffaa 7 S fead amifcre HeHa S99 $H U™l il 87

1. o % 9Ad e
2. T R yur-E

3. SR E e deHa

4.  9U%H AT H GRS HeHE
Options :
64635071735, 1
64635071736, 2
64635071737. 3
64635071738, 4

Question Number : 61 Question Id : 64635018271 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
What is the most recent period for which data on “Matemal Mortality Ratio’ is

available?
1. 20102012
2. 2012-2014
3. 20142016
4. 2016-2018
Options :

64635071739, 1
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B64E35071740. 2
64635071741. 3
64635071742, 4

Question Number : 61 Question Id : 64635018271 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

"HIg § U & AdHaH Siies (e g a4 & Iy 87

1. 2010-2012

2. 2012-2014

3. 20142016

4. 2016-2018
Options :

64635071739. 1
64635071740. 2
64E35071741. =
64635071742, 4

Question Number : 62 Question Id : 64635018272 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation ;: Vertical

Correct Marks ;: 2 Wrong Marks :

Match the countries shown in List-I with their ranking in terms of their population
density (2018) shown in List—II :

List-I List-II
() Bangladesh @ 1
(b) China G) 2
(c) Hong Kong @) 3
(d) India iv) 4
(&) Singapore *) 5

Choose the correct answer from the codes given below :
Lo (@) o)Hv): (e-0): (D): ()i
2. (@A) (b)(v): (o-G): (d)y-@): (e)iv)
3. @-(: o)) (©-0): (@-iv): ()i
4. (@-0): O)G): (V) (v (e)iid)

Options :
64635071743, 1
64635071744, 2
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Question Number : 62 Question Id : 64635018272 Question Type : MCQ Option Shuffling : No Display Question Number ;: Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

-1 7 gwiie g <= &1 G- F Sfcaf&a S5 swiemn 99 (2018) Fi e 3 gafa

I :
i1 11
(a) STCIGHE @ 1
(b) HH G) 2
(©) TFr (i) 3
(d) HRa (v) 4
(€) RFMR ®) 5
d e U se # 9 95l Saegu:
1L (@G: 0)@v): ()-@): (d)(v): (e)ii)
2. (2 )(v): (i) (d)-G): ()-Gv)
3. (@(): ()u): (e)-@): (d)y-@v); (e)—(i)
4. (@-@): (b)) (c)-av): (d)-(v): (e)iii)
Options :

64E55071745. 1
64635071744, 2
64635071745, 3
64635071746, 4

Question Number : 63 Question Id : 64635018273 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following is comrect ‘India’s percentage of the World’s Geographical

Area’ as per the UN Publication, 20187

1.

24

3.

4.

Options :

< 1-5%

1-5%—2-5%

2-5%—3-5%

>3-5%

64635071747. 1
B4E35071748. 2
64635071749, 3
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64635071750, 4

Question Number : 63 Question Id : 64635018273 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

g TP F 2018 T WHIRH & AFIR (9 & B I “URd & HFiieE &5 &1 uase 7y
T Hiviie® 89 & e # 95l 37

1. 1-5% o9
2. 1-5% I 2-5%
3. 2-5% ¥ 3-5%

4. 35% ¥ s
Options :
64635071747, 1
64635071748, 2
64635071749, 3
64635071750. 4

Question Number : 64 Question Id : 64635018274 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Match the World/Intemational important days shown in List—I with their dates of
celebration shown in List—II :

List-1 List-—II

(a) National Safe Motherhood Day @) Apul7

(b) World Population Day (1) Apnill
(c) World Health Day (i) Junes
(d) World Environment Day (v) July 11

Choose the correct answer from the codes given below :

L @-av); (b)) (e)-(); (1)
2. () (G (-av); (d)-i)
3. @0 ®)XGv): () (d)-(m)
4 @v); (o)1) (o)) (d)—(i)

Options :

64635071751, 1
64635071752, 2
64635071753. 3
64635071754, 4
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Question Numnber : 64 Question Id : 64635018274 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

T & gaiy 7y Ry sraidin aeagt fegw &1 i1 & sfcaf&a S 7w o #

e & gafer S
i1 THI-11
(2) T Rid g feaw @ 7 i
(b) fagyseem iqad G) 11 o
(c) Ty =g idaq Gi) 5 94
(d) foy waioRvr feTE iv) 11 Sars
Ha Ruuse § § 98 ST

1L @-av): (b)(i); (c)-(); (d)-{1)
2. (@) b} (-av): (d)-)
3. (@) G)av): (o)) (d)iii)
4. (@) )y (e)-uD): (d)-@)

Options :

64635071751, 1
64635071752, 2
646350717532, 2
64635071754, 4

Question Number : 65 Question Id : 64635018275 Question Type : MC(Q Option Shuffling : No Display Question Number ; Yes
Single Line Question Option : No Option Orientation ;: Vertical

Correct Marks ;: 2 Wrong Marks :
Which one of the following is comrect as highest annual exponential growth rate for

India’s population?
1.  2-20
2. 221
3: 222
4 223
Options :

64E35071755. 1
64635071756. 2
64635071757. 3
64635071758. 4
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Question Numnber : 65 Question Id : 64635018275 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

YR 31 sEEn F e & woffie aifs waiw afg R &2

1. =220

2; 2l

3. 2:22

4 223
Options :

64E35071755. 1
64635071756. 2
64635071757. 3
646350717538, 4

Question Number : 66 Question Id : 64635018276 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which one of the following states of India has the second largest population size
according to 2011 Census?

1. Bihar

2 Maharashtra
3 Tamil Nadu

4.  West Bengal
Options :
64635071759. 1
64635071760. 2
64635071761. 3
64635071762 4

Question Number : 66 Question Id : 64635018276 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

T 2011 P YRA BT SFIUAT & HTIR FEiiEd § 3 59 Usa & g3 999 g9t ANl 87

1. fegr

2. HeRTg

3. g
4. UigH ST

Options :
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64E35071759. 1
64635071760. 2
64635071761. 3
64635071762, 4

Question Number : 67 Question Id : 64635018277 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Assuming P and P; as population size at the beginning and end of the year 2000, the
denominator to measure crude death rate should be

1 Py
5. AEh
2

3. mid-year population of the year 2000

4 person-years lived in the vear 2000

Options :
64635071763, 1

64635071764, 2
64635071765, 3
64635071766, 4

Question Number : 67 Question Id : 64635018277 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A= SHfSTE s 2000 % SRH IR Sid # SIS F1 HHR P 3R P; & ST 9 o 91

F1 YR o1 18T
k. P
5 A +5
2

3. §¥ 2000 &1 HW gt e (iR
4. 99 2000 ¥ gfaa & Siifaa g4 &1 @iy

Options :
64635071763, 1

64635071764, 2
64635071765, 3
64635071766, 4

Question Number : 68 Question Id : 64635018278 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Which one among the following is NOT an essential feature of a modem census?
1. Coverage of total area/temmitory
2. Coverage of all residents
3. Common reference point

4. Coverage of all births
Options :
64635071767, 1
84635071768, 2
64635071769, 3
64635071770, 4

Question Number : 68 Question Id : 64635018278 Question Type : MC(Q Option Shuffling : No Display Question Number ; Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks : 0

frrofafaa & € 0 enyfe oM =1 ey fadiwar T8 &7
1. el §3/4Y- 4P &I SHd fodn ST
2. ot iRyt &1 e fean s

3. O ded I

4. g T I SH (gl Sl

Options :
64635071767. 1

B4E35071768. 2
64635071769. 3
64635071770. 4

Question Number : 69 Question Id : 64635018279 Question Type : MCQ Option Shuffling : No Display Question Number ; Yes
Single Line Question Option : No Option Orientation ;: Vertical

Correct Marks ;: 2 Wrong Marks :

Which one is the lowest population size class identified for the rural settlements by the
Census of India, 20117

1. Lessthan 100
2. Less than 200

3. Lessthan 400

4. Lessthan 500
Options :
64635071771. 1
64635071772, 2
64635071773, 3
64635071774. 4



wWww.prepp.in .repp

Your Personal Exams Guide

Question Numnber : 69 Question Id : 64635018279 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

HRA &1 SHRTUAET, 2011 H 1T STl & /g fosa- sde & ~gaad ssed {41 7417

1. 100 §FH

2. 200 9%H

3. 4009 HH

4. 5009 HH
Options :

64635071771. 1
64635071772, 2
64635071773. 3
64635071774, 4

Question Number : 70 Question Id : 64635018280 Question Type : MC(Q Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :
Which among the following is NOT a condition to get the demographic dividend?

1.  Higher proportion of working age population
2. Creation of skilled labour force
3. Increasedjob opportunities

4. Increased proportion of child population

Options :
64635071775, 1

64635071776, 2
64635071777. 3
64635071773, 4

Question Number : 70 Question Id : 64635018280 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

SFIIPaTa-TTHIR UK &34 & fod Fafiaa & 9 301 5gwyul = -1g1 8
1. PRI g are il i Se Sifie e

2. PRI YS! B1FoH
3. USNIR & AT H §ladl

4. SO I S B Gl gHT Sl

Options :
64635071775. 1

64635071776, 2
64635071777. 3
646350717738. 4
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Question Number : 71 Question Id : 64635018281 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which among the following is expressed correctly with respect to the child dependency
ratio (CDR). old age dependency ratio (ODR) and total dependency ratio (TDR)?

1. High CDR+Low ODR=High TDR
2. High CDR + High ODR = High TDR
3.  LowCDR+ High ODR=Low TDR
4, High CDR+Low ODR=Low TDR

Options :
64635071775, 1

64635071780. 2
64E35071781. 2
64635071782, 4

Question Number : 71 Question Id : 64635018281 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :
ST F-THYT ST (31, S, 31R), JETaRIT AT Sigurd (311, S, 3R, 3R Fa v srgaa
@, B, AR) % I8y # MufafEd 8§ 9 $H-91 Jo 9 I Afieged 57

1. ISR +FE e Sl emR = 3= 4 8l aR
2. JHYLEL AR + 3 3l S AR = AL Sl R
3. Ed S em + 3= 3 31 3R, = FE L S R
4. TSI AR + Y &7 B SR, = FE 4. 30 3R

Options :
64635071775, 1

64635071780. 2
64635071781. 3
64635071782, 4

Question Number : 72 Question Id : 64635018282 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
In which vear India passed “The Rights of Persons with Disabilities Bill’?

1. 2014

2 2019

3. 2016

4. 2017
Options :

64635071783. 1
B4E35071784. 2
64635071785. 3
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64635071786, 4

Question Number : 72 Question Id : 64635018282 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

YA & fopg au ‘Freeg witagl o1 fier it gt feear manr

1. 2014

2. 2015

3. 20le

4. 2017
Options :

64635071783. 1
64635071784, 2
64635071785. 3
646350717386, 4

Question Number : 73 Question Id : 64635018283 Question Type : MCQ Option Shuffling : No Display Question Number ; Yes
Single Line Question Option : No Option Orientation ;: Vertical

Correct Marks ;: 2 Wrong Marks :

According to Population Census (2011) of India, which among the following major
state has the largest household size?

1. Uttar Pradesh
.3 Tamil Nadu
3.  West Bengal

4. Kerala
Options :
64635071787, 1
646350717388, 2
64635071789. 3
64635071790, 4

Question Number : 73 Question Id : 64635018283 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

HIRA BI SITUAT (2011) & HIOR FofeiEa & 9 9 wea ¥ 7ol &1 oeR 96iiys 87

1. SWuCE
2. dRRHErg
3. Uiy STq
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Options :

64635071787, 1
64635071738, 2
646350717389. 3
646350717390, 4

Question Number : 74 Question Id : 64635018284 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
According to Population Census of India, which of the following states has recorded
the largest share of widow population?

1.  Assam

2. Kerala

3.  Gujarat

4. Odisha
Options :

64635071791, 1
64635071792. 2
646350717393. 3
64635071794, 4

Question Number : 74 Question Id : 64635018284 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

HRA B S0HT & S9R, Fafafa & 3 g o 3 earst 21 3en w6t Reis ot

TS &7
1. uH
2. &
3. TR
4. shfEm
Options :

64655071731. 1
64635071792, 2
64635071733. 3
64635071794, 4

Question Number : 75 Question Id : 64635018285 Question Type : MCQ Option Shuffling : No Display Question Number ; Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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According to Medical Certification of Causes of Death (MCCD) Report, 2015 which of
the following diseases has caused highest proportion of deaths?

1. Diseases of circulatory system

2. Diseases of digestive system

3. Diseases of respiratory system

4. Neoplasm
Options :
64635071795, 1
64635071796, 2
64635071797, 3
64635071798, 4

Question Number : 75 Question Id : 64635018285 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

g HING SR dadl ffeen yam-oa @a. 6. 9. S) ufades, 2015 & oar, Fafatea &
3 59 I & SRUT TS TG s &7

1. g ulyanreH a3 et A
2. UEAdE S d&9ida
3. HOE dF S geiyd

4. Hde Bl AAHER dfg
Options :
64635071795. 1
64635071796. 2
64635071797 3
64635071792 4

Question Number : 76 Question Id : 64635018286 Question Type : MC(Q Option Shuffling : No Display Question Number ; Yes
Single Line Question Option : No Option Orientation ;: Vertical

Correct Marks ;: 2 Wrong Marks :

Which among the following is the crux of the “multiple nuclei model’ proposed by
C. D. Harris and Edward Ullman?

1. Few cities forming growth nuclei
2. One city with multiple growth points
3. Few small towns considered as growth nuclei

4. Cities and towns together form a growth nuclei

Options :
64635071799, 1



wWww.prepp.in .repp

Your Personal Exams Guide

B64E35071800. 2
64635071801. 3
64635071502. 4

Question Number : 76 Question Id : 64635018286 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
1. S, Bt Sl Usare SORE GRI SRAIa ‘ag- Sl AIsa S JuIR 1 87
1. SEOFHTEIARENE FRaTIwE

2. TP O oo agd § Remwa §

3. ogd Uis 9 B 7RI ®i [deT &1 v JH1 T g

4. TR TREH! S e e s s s9d o

Options :
64635071795, 1

64635071300. 2
64£35071801. 2
64635071502, 4

Question Number : 77 Question Id : 64635018287 Question Type : MC(Q Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation ;: Vertical

Correct Marks ;: 2 Wrong Marks :
Assertion (A) : Dry regions are generally less populated.

Reason (R) : Wateris essential for the growth of the civilization.

Which among the following is a correct code?
1. Both(A)and (R) are correct but (R) is not the correct explanation of (A)
2. Both(A) and (R) are correct and (R) is the correct explanation of (A)
3.  (A)is true but (R) is false

4. (A)is false but (R)is true

Options :
64635071803 1

64635071804, 2
64635071805. 3
64635071806, 4

Question Number : 77 Question Id : 64635018287 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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BYUT (A) - X[ U WHRIGYI BH SEIEl aTd 8id &l
& R) - [l & [T & g 5 emaws B
Profafea 3 S S $e 98 22
L (A)3R®)SHw& g R), (A) 1 od Trem e ®
2. A)ME)IFR—MERE), A) F9d e
3. (A)WfegR) T
4. @A) TR g R) TR e

Options :

64635071803. 1
646350718304, 2
64635071805, 3
64635071806, 4

Question Number : 78 Question Id : 64635018288 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which among the following is NOT a pessimistic concept in terms of population
arowth?

1. Population will overshoot the carrying capacity by 2072

2. Population grows faster than food production

3.  Agrcultural intensification increases food production

4. Population pressure on conumon property resources will lead to tragedy
Options :
64635071807. 1
64635071808, 2

64E35071809. 3
64635071810. 4

Question Number : 7§ Question Id : 64635018288 Question Type : MC(Q Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

SRS O F el & PR § & S-S SrRun R T8 27
1. T 2072 T SIS P 819 SHDI G5 &HAT H b B S
2. SISl g% W Swe S e @i Sl §
3. T PN HUEE Ty Sdie A sgiad il 8
4. T ufy ey | S & 5919 & uRumeReE I Sod et

Options :
646350718307. 1
64635071808, 2
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Question Number : 79 Question Id : 64635018289 Question Type : MC(Q Option Shuffling : No Display Question Number ;: Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

Which among the following population distributions are NOT suitable to apply

parametric statistics?

(2)
(b)
(c)

(d)

Positively skewed
Negatively skewed
Bimodal

Normal

Which of the following codesis correct?

—*
i

2

3

4.

Options :

(a). (b) and (c)
(2). (b) and (d)
(a). (c) and (d)

(a) and (b)

64655071811. 1
64635071812, 2
64635071813. 3
64635071814. 4

Question Number : 79 Question Id : 64635018289 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Proffes & § S-a/8 saifers R o wiferst § wiee 8 5 R suge
ol &7

(a) SIS T
(b) FHBUIHAS TP

() REego®l™

(d) g

feaRfT s sH-aee sa &
P
1. (2. (b) 3R (0
2. (@ )R ()
3. (2. (0 HR(d)
4. (a) 3R (b)

Options :

64635071811. 1
64635071812, 2
64635071813 =2
64635071814 4

Sub-Section Number: 3
Sub-Section Id; 646350893
Question Shuffling Allowed : Yes

Question Id : 64635018290 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions ;: No

Question Numbers ; (80 to §2)
Question Label : CDmpI'EhEHSiOH
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Direction : Answer questions on the basis of the following diagram :

Sub questions

Question Number : 80 Question Id : 64635018291 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

If D = skilled population; |:| = married population and
i::} = doctors, then

which among the following depicts Zone 4?
1.  Skilled, married and doctor
2. Marned and doctor
3. Not skilled doctor

4, Skilled doctor

Options :
64635071815, 1

64635071816. 2
64635071817. 3
64635071813, 4

Question Number : 81 Question Id : 64635018292 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Which among the following depicts Zone C?
1.  Skilled and married
2. Marmied and doctor
3. Doctor but not married

4. Notmarmied and not doctor
Options :
64635071819. 1
64635071820. 2
64635071821. 3
64635071822 4

Question Number : 82 Question Id : 64635018293 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which among the following depicts Zone B?

1. Mamied and skilled
2 Slkalled doctor
3. Sklled doctor and not married

4. Marmied doctor
Options :
64635071823. 1
64635071824, 2
64635071825. 3
64635071326. 4

Question Id : 64635018290 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (80 to 82)
Question Label : Comprehension
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Fe=r: TgfaRdd STUM & YR R UM & 3 dIiole ;

Sub questions

Question Number : 80 Question Id : 64635018291 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

gfe, [::] — PRI SIS, — foanfed SHEE iR {:} = fafead gl
fAgferiad 89 i sl A @ f4=0d $dre?

Options :
64635071815, 1

64635071816. 2
64635071817. 3
64E35071815. 4

Question Number : 81 Question Id : 64635018292 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Frafifaa & 3 foes o ¢ Feita gar 82
1. PR AR fGarea

2 faatfea ok Rafse®
3. Fafes feeg afdaea

4. 94l adrisd A5l Rieds
Options :
646350718185, 1
64635071820. 2
64635071821, 3
64635071822, 4

Question Number : 82 Question Id : 64635018293 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

froffEa & 3 feT= Wi B &1 fAegur gian 82
1. faaifed iR o=@
2. PR@ HisdEs

3. R fafeds ok sfdarfza

4. foaifea Rfsas
Options :
64635071823, 1
64635071824, 2
64635071825, 3
64635071826. 4

Sub-Section Number: 4
Sub-Section Id: 646350894
Question Shuffling Allowed : Yes

Question Number : 83 Question Id : 64635018294 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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‘Which one of the following is NOT stated correctly?

1. Coale and Hoover talked about population growth and economic
development

2.  Ester Boserup talked about agricultural intensification
3.  Paul Ehrlich talked about population explosion

4. Robert Malthus talked about technological improvement

Options :
64635071627. 1

646350718238. 2
64635071829. 3
64635071530. 4

Question Number : 83 Question Id : 64635018294 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

frafafaa § 9 SF-91 $Y= 7104 87
1. i SRR A o gig SR anfife e Siaa &1 @
2. SR SRRY A TG i DI §1d DI A
3. Ofa @R A S epie S sra e A

4. e AU A v o & R 91 &1

Options :
64635071827. 1

64635071828. 2
64635071829. 3
64E35071820. 4

Question Number : 84 Question Id : 64635018295 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which one of the following methods is used to remove the effect of age structure on
crude death rate?
1.  Adjusted children age structure
2. Adjusted olderage structure

3. Standardization

4. Adjustment of sex ratio

Options :
64635071631. 1
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B4E35071822. 2
64635071833. 3
64635071534, 4

Question Number : 84 Question Id : 64635018295 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

et &S oi=-< Jomel =il 59 &8 W 1Y TEH1 & WHIT B §eH & (oY Wi &I
SATell 82

1. HEEIS §16 g 3=
2. HMEIGI GEial Il

3. AP

4. IS &1 JHEeA

Options :
64635071831, 1

64635071832. 2
64635071833. 3
64635071534, 4

Question Number : 85 Question Id : 64635018296 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which formula is correct for converting M, (proportion of death) to ,g, (probability

of death)?
) 2n Hfdx
- 2+n M,
M
2 R x
2
3 2n M,
2n
4 M
2 M
Options :

64635071835, 1
64635071836. 2
64635071837. 3
64635071533, 4

Question Number : 85 Question Id : 64635018296 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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DIH-T1 BIEAT M, (5 A9U) Bl g, (5 IRIHIA) B TS SR & [0 ol 87

1 2n M.

: 2+n nM'x
5 M

2

. 2n HJHE

S 2n
4- R'ﬂ:{x

2x3- Hﬁ{r
Options :

64655071835. 1
64635071836. 2
64635071837. 3
646350718338. 4

Question Number : 86 Question Id : 64635018297 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
The first UN model life table was based on how many national life tables?

1. 150
2. 158
3. 160
4. 168
Options :

64655071839. 1
64635071840. 2
64635071841. 3
64635071042, 4

Question Number : 86 Question Id : 64635018297 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

WUH g, U, UiaeY Siad il il UBid Sia anereiel I TR 2i?

1. 150

2. 158

3 160

4 168
Options :

64655071839. 1
64635071340. 2
64635071841. 3
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64635071842, 4

Question Number : 87 Question Id : 64635018298 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Crude Death Rate (CDR) does not always reflect the real level of mortality because it is
affected by :

1.  infant mortality (< 1 year)
2.  under-five mortality (0—4 vears)

3.  matemal reproductive age (15—49 vears)

4. age structure of population

Options :
64635071843, 1

64635071844. 2
64635071845. 3
64635071546, 4

Question Numnber : 87 Question Id : 64635018298 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

SRITYT 7 &% (CDR) ¥ed 7o & & 390 TR ®I 76l axRiidl aaiie ag WHIGa gidl 8 ;

1. RRIg s« )

2. Ui i gg o (04 31 a1

3. HIg FASdgHdl 3 (15-49 341 ae)

4. S DI Y A
Options :
64635071843, 1
64635071844, 2
64635071845, 3
64635071846, 4

Question Number : 88 Question Id : 64635018299 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Which one of the following statements is NOT correct?
1.  Process and output indicators are used for monitoring of programme
2.  Monitoring indicators are available in programme records and reports
3.  Outcome and impact indicators are used for programme evaluation

4. Outcome and impact indicators can be calculated from monitoring records
Options :
64635071847, 1
64635071848, 2
64635071849, 3
64635071850. 4

Question Number : 8§ Question Id : 64635018299 Question Type : MC(Q Option Shuffling : No Display Question Number ; Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks : 0

Fafaf@a 8 S S-91 U= 9%t T8l o7
1. ikl () SR OikuTH (313TUe) Saad! 1 SUai SRIGH i MR & 0g
e STl &

2. TR d5as FiEa & els ok fyuef § Suas 3 &

3. HHH Jied & [0 G (AHTSee) SR WHIT (SHae) Sedd! o ST
faar SiTaT &

4. TS (erSTen) 3R UHIT GHae) Sadet @ muHT AR @iHielion Rersi
P\ o Ipal &

Options :
64635071647. 1

64E35071848. 2
64635071843. 3
64635071850. 4

Question Number : 89 Question Id : 64635018300 Question Type : MC(Q Option Shuffling : No Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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In a life table. 7, represents total number of years lived beyond age x and is
symbolically written as :
1. T.=F

¥+1

+L,
2. ‘T; =Lx+1+Lx

3. L=T,+I

L

4. TL=L,+L,

Options :
64635071651. 1

64635071852, 2
64635071853. 3
64635071854. 4

Question Number : 89 Question Id : 64635018300 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

U Siiaq difeisst #, T, oM x & UR o0 (64 7Y 981 &1 $d I &I g¥ial &, R fe&g
UepTed® &Y H fo7a oI &7

i T

=1

+iL
2 I;: =Lx+1+Lx
§ BELAL

4. ‘Tx =Lx-1+‘[‘x
Options :
64635071851 1
64635071852. 2
64635071853. 3
64635071854. 4

Question Number : 90 Question Id : 64635018301 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation ;: Vertical

Correct Marks ;: 2 Wrong Marks :

Life expectancy is usually a better summary measure of mortality than crude death rate.
In which one of the following situations it makes no difference, which one you use?

1. A rapid growth population
2. A population’s birth and death rates are equal
3. A stationary population

4. A slow growth population

Options :
64635071855, 1
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B4E3507185€6. 2
64635071857. 3
64635071853, 4

Question Number : 90 Question Id : 64635018301 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
ST YT TTHIRI: SRS G &3 BT U 5og &% $1 U6 aoa] 99 A19& o Mot
83 PH-J1 RUfd P15 2R 781 usal i$ 53 e gy §ad §7

1. Us @i 9fg s

2. UH oGS &l o SR g Bl X M ©
3. Us RRSASE

4. diF T @ Sghs SHEE

Options :
64635071855. 1

64635071856. 2
64635071857. 3
64635071853, 4

Question Number : 91 Question Id : 64635018302 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which of the following correctly describes confounding?

1. Itisnot possible to isolate effect of confounder variables
2. A confounder is intermediate variable affecting outcome variable
3. A confounder variable affects independent variable

4. A confounder is a variable that influences both the dependent and
independent variables causing spurious association

Options :

64635071859, 1
64635071860. 2
64635071861, 3
64635071862, 4

Question Number : 91 Question Id : 64635018302 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Frafeied # 3 oH-91 te YH (@ FREiST) ST Jul 9o S 82

1. TGS W & WHIE B gX BT 9RE T8l §

2. ‘SIS SY UF Oadi 93 & o ulumHE @R & gHIfad Sdie

3. 'HBESY 9 WGdd 9 & YHIfdd Fdr e

4. ‘BPISEY I5 X8 O SN SR T ST a3 @l THISG el & o T
o9l 97 ol &
Options :
64635071859, 1
64635071860, 2
64635071861, 3
64635071862, 4

Question Number : 92 Question Id : 64635018303 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Under National Health Mission, District Early Intervention Centres are established to
improve quality of life of children 0—18 years through screening and early detection.
Which of the following is not correct under it?

1.  Birth defects are treated
2. Deficiencies are treated
3. Development delays and Disabilities are treated

4.  Treatment expenditure will be met from funds available with Rogi Kalyan
Samitis (RKS)
Options :
64635071863, 1
64635071864, 2
64635071865, 3
64635071866, 4

Question Number : 92 Question Id : 64635018303 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

TP A fARE F HaEia S R =AH 9a1 6L 0-18 T4 & S & g &1 quast §
FUR B O TREae 9icll Sexaur Jev’ RNt 16y 70 €1 59 sivia Muiciaa 3 9

I 1 e e o7
1. S I Y @Y Shaeq)
2. AUAIg

3. foorg ¥ faos ok fawaiang

4. IUER$ ogg i gfdt At Hear gfafadi (R, &, 19) & U U Ay d @i
gt
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Options :
64635071863, 1

64635071864, 2
64635071865. 3
64635071366. 4

Question Number : 93 Question Id : 64635018304 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Under "National Health Mission” (NHM)., which of the following options is cormrect
combination of determinants of "good health’?

1.  Nutrition, sanitation, culture, hygiene
2.  Nutntion. sanitation. education, environment
3.  Nutrition, sanitation, education, economic development

4. Nutrition, sanitation, hygiene and safe drinking water

Options :
64635071667. 1

646350718638. 2
64E35071869. 3
64635071870. 4

Question Number : 93 Question Id : 64635018304 Question Type : MCQ Option Shuffling : No Display Question Number ; Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks : 0
P WG fARE (@, 9. ) F ofdia Fuitiee § § - fGed o WA #
fruRet =1 9dl 9gg &7

1. GOy, o, R, TS

2. Uiy, s, RIg, 9aio

3. o, wasal, e, enfdfes feer

4. YU, W34l BT AR WS ugerd

Options :

64635071867. 1
646350718638, 2
64635071869, 3
64635071870. 4

Question Number : 94 Question Id : 64635018305 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Assertion (A) : Female literacy is the best contraceptive to make positive impact on
fertility.

Reason (R) : If women are literate, their marmiages will be delayved and their
reproductive behaviour will change and they will have optimal total
fertility.

Which among the following is a correct code?
1. Both(A) and (R) are true and (R) is the correct explanation of (A)
2. Both(A) and (R) are true but (R) is not the correct explanation of (A)
3. (A)is true but (R) is false

4.  (A)is false but (R)is true

Options :
64635071671, 1

B4E35071872. 2
64635071873. 3
64635071874, 4

Question Number : 94 Question Id : 64635018305 Question Type : MC(Q Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

HIYHYT (A) - ﬁi%?ﬂ%m&lmt Tol- R GhRIA® FHIG SIa & (a8 gaiad 14 FRig®
oyig gl

@ (R) - gfe Afad eR g af S99 faare ¥ few g ik $9% Jo TaER
H g 31U SR 3] S0 Yol &HdT 3F aH Bl |

Prafufea § § -9 He 981 &7
1 (A) 3R R) SIS AU (R), (A) I TEl e &
2. (A)MEP) AT EIR), (A) P ¥el wrem T&le
3. A Efrg® T

4 (A)TEefFgR) @'

Options :

64635071871, 1
64635071872, 2
64635071873. 3
64635071874 4

Question Number : 95 Question Id : 64635018306 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Which one of the following options is NOT micronutrient deficiency?
1.  Iron and Folate deficiency
2. Proteins deficiency
3. Iodine deficiency

4. Vitamin A deficiency

Options :
64635071875, 1

64635071876. 2
64635071877. 3
64635071873. 4

Question Number : 95 Question Id : 64635018306 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

frgfaféa 3 3 F19-1 e & e aw@ 31 oeadl 3 Seiia 761 87
1. SRRA R Bide &l edqdl
2. WISH DI SUdl
3. SIS Pl SfeTdl

4. faerft= A =1 areqan

Options :

64635071875. 1
64635071876, 2
64635071877. 3
64635071878, 4

Question Number : 96 Question Id : 64635018307 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Match the ‘Risk measures’ given in List—I with their "Explanations’ given in List—II :

List-1

(a) Relativerisk (i)

(b) Attributable fraction

(c) Attributablerisk

(d) Population attributable risk

(i)

(11)

(iv)

List—II

The excess annual incidence of
avoidable adverse outcome in the
population

Strength of association between risk

factor and outcome

Ratio of attributable nsk and
incidence of outcome with risk
factors

Difference in incidence of outcome
with risk and without risk population

Choose the correct answer from the codes given below :

L.

2.

3

4

Options :

(a)y-): (b)-(ui): (e)—iv); (d)—(i)
(@) (b)-Gv): ()i (d)—)
(@i (b)) (c)-(v): (-0
(a)y-Gi); (b)—(ii): (c)—); (d)y-Gv)

64635071879. 1
64635071880. 2
64635071881. 3
64635071882. 4
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Question Number : 96 Question Id : 64635018307 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(a)

(b)

(c)

i1
g SiiEs ()
fo=igs afmn (i)
(USTegcsd hagH)
fo=ig® Sifas (iii)
CE IR

(d) SEfRNESREE (v)

THI-1I

Saen H# uitegE uiiea oivom @
TP qMS P T

WY $R$ iR INUH & §9 Jregd
T

oIy YR&l ufead fOSive oifEg iR
QIUMH & 39a+ &1 3did
SIfEH gad sHae iR IR oifes gad
S & Uiumd & Sfadq § SR

i f[CT T e § ol ST B 4G DI :

1L (@) (b)D); ()-Gv): (d)-w)

2. (a(): (b)v): (e)-(i): (d)-{)

3. (@) (b)G); (-Gv) (d)-1)

4. (a(@); (b)) (c)-G): (d)-Gv)
Options :

64635071879. 1
64635071880. 2
64635071881. 3
64635071882, 4
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Question Number : 97 Question Id : 64635018308 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which one of the following is true about “Bridge population’ in the context of HIV

They conduct behavioural sentinel surveillance among high risk population

Group of people who spread disease from high risk population to low-risk

Group of people who connects service providers to high risk population

Group of people who promotes health education message among high risk

transmission?
1.
2.
general population
3.
4
population
Options :

64635071883. 1
64635071884. 2
64635071885. 3
64635071886. 4

Question Number : 97 Question Id : 64635018308 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
64635071883, 1

64635071884. 2
64635071885. 3
64E3507188E. 4

Question Number : 98 Question Id : 64635018309 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

What is the population norm for Urban Primary Health Centre being established under
National Urban Health Mission (NUHM)?

1. 25.,000-30.000

2. 30.000-40.000
3. 40.000-50.000

4. 50,000-60,000

Options :
64635071887, 1

646350718838. 2
64635071889. 3
64635071830. 4

Question Number : 98 Question Id : 64635018309 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Wt =TEd ey R (@, g, T3, )  siavia wiiftd feu o 1 el mufte wea a5
& for s et A s 82

1.  25,000-30.000
2. 30,000-40.000
3. 40.,000-50.000

4. 50,000-60.000

Options :
646350716387. 1
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B4E35071888. 2
6463507188%9. 3
64635071830. 4
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Question Number : 99 Question Id : 64635018310 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Match different types of Indicator given in List—I with their Examples given in List—II :

List—I
(a) Inputindicator @)
(b) Process indicator (ii)
(c) Outputindicator (iii)
(d) Outcome indicator (iv)

List-II
Increase in institutional delivery

Timely supply of oral contraceptive
pills

Number of ASHAs trained and

functioning

Reduction in matemal deaths during
delivery

Choose the comrect answer from the codes given below :

L (@-Gi); b)) (e)-(ii); (d)-iv)
2. (@) ()G () (d-av)
3. (@) ®)@); (-Gv): (d)-(id)
4. (ay(@): (o)) (e)-Gv); (d)-(1)

Options :

64635071891, 1
64635071892, 2
64635071893, 3
646350718394, 4

Question Number : 99 Question Id : 64635018310 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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L (@G): &)X (i) (D-Gv)
2. (@) ()G (-0 (d)-iv)
3. (@) (b)) (-av). (d)—i)
4. (@) GG (©-Gv); (-0

Options :

64€35071891. 1
64635071892, 2
64635071893. 3
64635071894, 4
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Question Number : 100 Question Id : 64635018311 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following is NOT covered under *Mission Parivar Vikas’ under the family

planning programme?

1. Rollout of injectable contraceptive "Antara’

2. Augmenting of PPIUCD services

3. Augmenting sterilization services

4. Providing more ASHA workers in districts with TFR = 3

Options :
64635071895, 1

646350718396. 2
646350718397. 3
64635071893, 4

Question Number : 100 Question Id : 64635018311 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
64635071895. 1

646350718396. 2
64635071897. 3
64635071893, 4

Question Number : 101 Question Id : 64635018312 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following health services are NOT covered under the Prime Minister Jan
Arogva Yojana (PMJAY)?

1. Hospitalization expenses
2. Day care surgeries
3. New Bom child services

4. Counselling services
Options :
64635071899. 1
64635071900. 2
64635071901. 3
64635071902, 4

Question Number : 101 Question Id : 64635018312 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
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64E35071899. 1
64635071300. 2
64635071901. 3
64635071902, 4
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Question Number : 102 Question Id : 64635018313 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Match the types of research study in health given in List—I with their description given

in List—II -

(a)

(b)

(©)

(d)

List-1
Descriptive study (i)
Analvytical study (ii)
Case control study (ii1)
Cohort study (iv)

List-II

Purpose is to investigate risk factors
to the disease

Measures the incidence of disease
over time

Measurements of exposure and the
effect are made at same time

The study analyses the relationship
between the health status with other
variables

Choose the correct answer from the codes given below :

1.

2

3.

4

Options :

(). (o)-Gv); ()@ (d)-m)
(a)-); (b)-v): (c)—(1): (d)-(ii)
(@)-(Gii): ®)D): ()-iv): (d)ri)
(a)y-(i); (b)-GiL): (c}-(Gv): (d)-Q)

64E35071903. 1
646350713904, 2
64635071905. 3
646350713906, 4

Question Number : 102 Question Id : 64635018313 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Ti-1 ® T=g % 87 § Ty AEE & YR B GEi-1l § & 75 S9! oare § gaka

Hifoy :
THi-1 HI-I1

(a) TUFTHD 3T () TSI SEW T P GIEH PRSI @I
YU BT &

(b) AuTTES e (i) I GHAEHHE H W1 ITF g5 PI "l
I AT 9T 8

(c) TrHa-fa=u sremaa (i) WPe B SR TSI ITFA YHIG THEI H
T U o 90 ¥ fasan ofran

(d) TS SHETT (v) 9 g ¥ el o Wiy 3R o= =
& " I8 BT [Aay fear ol o

Hia ey U ge § I Tal ST 1 I8 FIU -

Lo (@) (b)-Gv); (c)-(): (d)-)
2. (@) (bFv): (e)-): (d)-i)
3.0 (@) G- (i) (d)-i)
4 (@) ()-am): (e)-Gv): (@)

Options :
64635071903, 1

646350713904, 2
64635071905. 3
64635071906, 4

Question Number : 103 Question Id : 64635018314 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Much of the problems of the society can be attributed to the inequities of the social
institutions especially greed and accumulation of poverty. This view-point can be best
attributed to

1. John Graunt
2. William Godwin
3. Thomas R. Malthus

4. Robert Wallace
Options :
64635071907, 1
64635071908, 2
64635071909, 3
64635071910. 4

Question Number : 103 Question Id : 64635018314 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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g B MY gEgiel B SR gEivie IRie § eaHan 989y s aeg 2R
el # gfg 817 39 foar @1 91 fofofaa 8 9 feg onar 82

1. WHIEe

2. fafemaarsies

3. YIEY IR Oid

4. scdod
Options :

646350713907 1
64E35071908. 2
64635071903. 3
646350713910. 4

Question Number : 104 Question Id : 64635018315 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks : 0
The term "Demography’ was coined by

1.  John Graunt
2. Achille Guillard
3. William Petty

4.  Edmund Halley
Options :
64635071911. 1
64635071912, 2
64635071913. 3
64635071914 4

Question Number : 104 Question Id : 64635018315 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

SHRITRI Reg %1 Uldure fea- far u1?

1. WA

2. uRrfrms

3. falermaucsE

4. UsHsEq
Options :

64655071911. 1
64635071391z2. 2
64635071913. 3
646350713914, 4

Question Number : 105 Question Id : 64635018316 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct Marks : 2 Wrong Marks : 0
Which of the following country is characterized by “ecological deficit’?

1. TUSA

2. Canada

3. Russia

4. Australia
Options :

64655071915. 1
646350713916. 2
64635071917. 3
64635071918. 4

Question Number : 105 Question Id : 64635018316 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

‘ivfufasia grer FefafEa & € e 2w @t fagar 22
1. g ISy SRS

2. Gl

3. g

4 sifefmn
Options :

64E35071915. 1
646350713916. 2
64635071917. 3
64635071391838. 4

Question Number : 106 Question Id : 64635018317 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which of the following contributed the largest share of international migrants as source

area in 20177
1. TUSA
2. Russia
3. China
4. India
Options :

646350719198. 1
64635071920. 2
64635071921. 3
64635071922, 4
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Question Numnber : 106 Question Id : 64635018317 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

ay 2017 § (giif@a § 3 9 <% &1 9 85 & U H sfaupia ol § gaiiyes o

TgI?
1. Ogad Usg SHERST
2. =9
3. dH
4. HRd
Options :

6463507191%3. 1
64635071920. 2
64635071921. 3
64635071922, 4

Question Number : 107 Question Id : 64635018318 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
International migrants accounted for what percent of the world population in 20177

1. DBelow 2 percent
2. 2-5 percent
3. 57 percent

4. 8-10 percent
Options :
64635071923, 1
64635071924, 2
64635071925, 3
64635071926. 4

Question Number : 107 Question Id : 64635018318 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

a 2017 H fay B SSe & (o UaRa Ay Hari 37

1. 2YKR A BH

2. 2-5yfaRE

3. 5-7Widw

4. 810 U=«
Options :

64635071923. 1
64635071924, 2
64635071925. 3
64635071926, 4
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Question Numnber : 108 Question Id : 64635018319 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
While defining migration, which of the following is considered?

1.  Crossing over an administrative boundary with change in place of residence

2. Change in place of residence

3. Frequency of trips made

4. Distance covered
Options :
64635071927 1
64635071928. 2
64635071929. 3
64635071930. 4

Question Number : 108 Question Id : 64635018319 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

RIS B UNHITRG Bya 994 e o € g w Aar fear s 22
1. o= # uivgdd afed (ol IRk JiH S IR &1

2. FomwEH uiads
3. HM-SIH Pl SRRl
4. TR

Options :

64635071927, 1
64635071928, 2
64635071929, 3
64635071920, 4

Question Number : 109 Question Id : 64635018320 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which one is the correct sequence of Union Temitories in descending order on the basis
of levels of urbanization in 20117

1. NCT of Delhi, Puducherry, Daman & Diu and Chandigarh

2. NCT of Delhi, Chandigarh, Daman & Diu and Puduchemry

3.  Chandigarh, NCT of Delhi, Daman & Diu and Puducherry

4.  Chandigarh, NCT of Delhi. Puducherry and Daman & Diu
Options :
64635071931. 1
64635071932, 2
64635071933, 3
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64635071924, 4

Question Number : 109 Question Id : 64635018320 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

T4 2011 FI ST F TR NEAHI $ WRI & ATYR R aR0e! HH 5 T I 831 F
&l HH RIH-91 87

1. g & e, Yga, eFF SR e aurdsivg
2. PRSIy & T, FeiTe, TFA SR i aun ggE
3. <icie, ugh aeyr 4= faedl, g ok fes qur ggad
4. dSNTe, UL AT 8 e, g aul ahd AR fas

Options :

64635071931, 1
64635071932, 2
64635071933. 3
646350719234 4

Question Number : 110 Question Id : 64635018321 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Urban centres with population size of less than 5000 persons contribute what percent of
total urban population in 20117

1. Less than 5 percent
2. 3-7 percent
3. 810 percent

4. 10-12 percent
Options :
64635071935, 1
64635071936, 2
64635071937, 3
64635071935, 4

Question Number : 110 Question Id : 64635018321 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Y 2011 DI STHUHT & TR HA Rl aedl $I fad Wa=id @ 5000 § FH S99

o wedl H e 87
1. SUdRa Y HH
2. s—7ula=d
3. 8—10 iR
4. 10-12 id=a
Options :

64635071935. 1
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B4E350719Z6. 2
64635071937. 3
64635071933. 4

Question Number : 111 Question Id : 64635018322 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
The largest contributor to urban growth in India during 20012011 is

1. rural to urban migration
2 rate of natural mncrease
3. new towns minus declassified towns

4 expansion in municipal limit

Options :

64635071935, 1
64635071940. 2
64635071941. 3

64635071942, 4

Question Number : 111 Question Id : 64635018322 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

¥ 2001-2011 F S URA & a4 saed of& ¥ el arer feue! 87
1. T S = &3 @ SR W
2. SO &l WYIfaE G &%
3. TR A saiiea R mfE@ T8 §
4. TRUICTRT 87 51 JH1si § 9%

Options :

64€35071923. 1
64635071940. 2
64635071941. 3
64635071942 4

Question Number : 112 Question Id : 64635018323 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

According to 2011 Census, what percentage of India’s population resides is urban
areas?

1.  25-27 percent
2. 2830 percent
3. 30-32 percent

4. 35-37 percent
Options :
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64E3507194Z. 1
64635071944, 2
64635071945, 3
64635071946, 4

Question Number : 112 Question Id : 64635018323 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

af 2011 Bt TFIUFT & TR YR DI faT afa=r s 2 &af & Tedt 82

1. 2527 vfa=@

2. 28-30Wia=@

3. 30-32 Uid=d

4. 35-37 ula=@
Options :

64655071943. 1
64635071944, 2
64635071945, 3
64635071946, 4

Question Number : 113 Question Id : 64635018324 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
In the equation I = PAT, which letter represents income?

i I
2 P
3 A
4 T
Options :

64635071947. 1
646350719483 2
64635071943. 3
64635071950. 4

Question Number : 113 Question Id : 64635018324 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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TSI [ = PAT # SIH-T1 &R 3T Sidl &7

1 I
2 P
3 A
4 T
Options :

64635071947. 1
64635071943. 2
64£35071949. 2
64635071950. 4

Question Number : 114 Question Id ;: 64635018325 Question Type : MC(Q Option Shuffling : No Display Question Number ;: Yes
Single Line Question Option : No Option Orientation ;: Vertical

Correct Marks ;: 2 Wrong Marks :

Which among the following is the most appropriate method to represent trends in birth-
rate in a region?

1. Linegraph
2.  Pie diagram
3. Bar diagram

4. Band graph

Options :
64635071951, 1

64635071952. 2
64635071953. 3
64£35071954. 4

Question Numnber : 114 Question Id : 64635018325 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

frst g7 & o791 R @ wehut ot weikia &0 & Ry PefifEe & 3 si9-0 =9 suga

faiy gz
1. WEAuE
2. USRS UTH
3. SRTEIM
4. dsU%

Options :
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64E35071951. 1
64635071952. 2
64635071953. 3
64635071954, 4

Sub-Section Number: 5
Sub-Section Id: 646350895
Question Shuffling Allowed : Yes

Question Id : 64635018326 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (115 to 119)
Question Label : Comprehensic}n

Direction : Answer on the basis of the data given below :

Heights of fathers and their eldest sons

Height of Father | 65 | 63 | 67 | 64 | 68 | 62 | 70 | 66 | 68 | 67 | 69 | 71
(inches)

Height of Son| 68 | 66 | 68 | 65 | 69 | 66 | 68 | 65 | 71 | 67 | 68 | 70
(inches)

Sub questions

Question Number : 115 Question Id : 64635018327 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Median (statistical measure of location) value of height of the son is :

1.  67inches

2. 67-5inches

3. 66 inches

4. 68 inches
Options :

64635071955, 1
64635071956. 2
64635071957. 3
64635071953, 4

Question Number : 116 Question Id : 64635018328 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Modal value (statistical measure of location) of the height of the son is :

1. 65 inches

2. 66 inches

3. 67 inches

4. 68inches
Options :

6463507195%9. 1
64E350719€0. 2
64635071961, 3
64635071962, 4

Question Number : 117 Question Id ;: 64635018329 Question Type : MC(Q Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks : 0
Range (statistical measure of variation) of the son’s height is :

| 70—66 inches
2 71—65 inches
3. 65-71 inches

4. 71-66 inches
Options :
64635071963, 1
64635071964, 2
64635071965, 3
64635071966, 4

Question Number : 118 Question Id : 64635018330 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Correlation between heights of father and son is :

1. 14
2. -1
3. positive with value less than 1

4. negative with value between 0 to—1
Options :
64635071967. 1
64635071968, 2
64635071969, 3
64635071970. 4

Question Numnber : 119 Question Id : 64635018331 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Regression equation between the heights of father and son is ¥ =358+48X,

where ¥ = height of son and X that of father. Which of the following options are correct
interpretations of the equation?

(a) Height of son increases with height of father

(b) Height of son increases by 0-48 inches per inch increase in height of father

(c) Height of son starts with 35-8 inches
(d) Height of son increases by 0-48 times the height of father

Choose the correct answer from the codes given below :

1. (a)and(c)
2. (a)and(b)
3. () and(d)
4. (b) and (c)
Options ;

64635071971. 1
64635071972. 2
64635071973. 3
64635071974, 4

prepp
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Question Id : 64635018326 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension

Questions : No

Question Numbers : (115 to 119)

Question Label : Comprehension

Few: TRRumaiies F MR R uy T o1 IW g

A eRFF AT @ F SAR A A TS 3 -

e @t Sarg 65 | 63 | 67 | 64 | 68 | 62 | 70 | 66 | 68 | 67 | 69 | 71
CEK)

A @ $dls 68 | 66 | 68 | 65 | 69 | 66 | 68 | 65 | 71 | 67 | 68 | 70
e

Sub questions

Question Numnber : 115 Question Id : 64635018327 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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0 Bl Sans 1 AN (arufa o Sifeget @) & 82

1. 67%4

2. 675%d

3. 66%d

4  68%4
Options :

64655071955. 1
64635071956. 2
B4E35071957. 3
646350719538, 4

Question Number : 116 Question Id ;: 64635018328 Question Type : MC(Q Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

0 Bl HaTs 51 9gas M (Safufa i wiferes am) e § sH-w1 82

1. 65%d

2. 66%d

3. 67%d

4. 6834
Options ;

6463507195%9. 1
64635071960. 2
64635071961. 3
64635071962, 4

Question Number : 117 Question Id : 64635018329 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

15 & BF-T1 @ &1 3418 &1 3 (E0 &1 JifeIsid 1) 87

1. 70-66%d

2. 71-65%d

3. 65-71%4

4. 71-66%9
Options :

64635071963 1
64635071964, 2
64635071965, 3
64635071966, 4
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Question Numnber : 118 Question Id : 64635018330 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

o & Sie-1 e SiR O B $91E % 59 9 I8y 87
£ 1

2. -

3. 19 SH HTEHS JH

4. 0%-1 & UG BUHS 94

Options :
64635071967, 1

646350719638. 2
64635071969, 3
64635071970, 4

Question Number : 119 Question Id : 64635018331 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

a1 SiR T3 T SaTs & 79 UfTHT THEI0 87 = 358+48.X,
el Y= 13 Bl Sar X o 1 Sarg

frafufea 3 fea Reea/fa faawl & 59 gdieu 2 98 aren @1 18 2
(2) TSI S Ul Pl Hams » AU FGdl o
(b) T T DTS U1 B Hals o 0-48 33 AfF agdi §
() FHHARISL AT E
(d) D SR AP Sas @ 0-48 T Sgdl 8

2 o8 T e § @ wat s g
1. (2SR (o)
2. (2) M)
3. () 3R (d)
4. (b) SR (o)
Options :

64635071971. 1
64635071972, 2
64635071973. 3
64635071974. 4

Sub-Section Number: 6
Sub-Section Id: 646350896
Question Shuffling Allowed : Yes
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Question Numnber : 120 Question Id : 64635018332 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
What percent of India’s urban population reside in slums in 2011 Census?

L. =530

2 (2302900

3. 20-0-24-9

4. 15-0-199
Options :

64635071975, 1
64635071976. 2
64635071977. 3
646350719738. 4

Question Number : 120 Question Id : 64635018332 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

¥ 2011 DI STIVHI & YR R HRG BI Tl w5 31 feadn ufa=a afem siaat

frara exar 7
1. =30
2. 250-299
3. 20:0-249
4. 15-0-19-9
Options :

64635071975. 1
64635071976. 2
64635071977. 3
64635071973, 4

Question Number : 121 Question Id : 64635018333 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Given (1) Census population of UP for 2011, (ii) Fertility and mortality levels for 2018,
and (iii) Migration during various decades. Which of the following components need to
be projected for projecting UP population to the year 20217

1.  Fertility alone
2.  Mortality alone
3.  Fertility and mortality

4 Fertility, mortality and migration

Options :
64635071979, 1

64635071980. 2
64635071981. 3
64E35071982. 4

Question Number : 121 Question Id : 64635018333 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

(1) 98 2011 T FFTUHT & THR S UG Bt GG, (i) T4 2018 1 Yo 3R 7 &3
WR 3R (i) fofta <=t & var & oMYR W oy 2021 & SR WS &I S-S B Haitd

X+ P o ey 7 9 59 gee o vt o am @ smaxgea g2

1. SIUUSHAR
2. DaOaHg

3. WA RARFG R

4. UOHER §Y R AR YN
Options :
64635071979, 1
64635071930. 2
64635071981, 3
646350719382, 4

Question Number : 122 Question Id ;: 64635018334 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Match the fertility indicators shown in List—I with the data required for its denominator
shown in List—II :

(@)
(®)

(c)

(d)

List—I
Total Fertility rate (D)

Total marital fertility (ii)
rate

General fertility rate (i)

Crude birthrate (iv)

List—II
Total population

Total number of women In
reproductive age groups

Age specific women in reproduction
ages

Age specific mamied women in
reproductive age

Choose the correct answer from the codes given below :

1.

2

£3

4.

Options :

(@-i): (b)-Gv); (c)ii); (d)1)
(a)-(); (b)-Gv): (c)(ii): (d)-(ii)
(@)-(ii); (b)-v): (e)-Gi) (d)-@)
(@G ()-Gv): (@ (d)-(iD)

64635071983. 1
64635071984, 2
64635071985. 3
64635071986. 4
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Question Number : 122 Question Id : 64635018334 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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-1 & gxiie e yoH Jeas! o gEi-11 | Sicea sue RuRo s o siféa siiest @

AT g ;
-1 TE-11
(a) T YA S () O ITIR
(b) F gdifed Told a3 (i) WS Y SHg H Afgas & Fa dS
(©) <RI Yo a3 (i) worHH g ®i gl Pl [GRY g
(d) SEif¥as=ER Gv) YA +g ¥ foaifea afeanst =t fafty
g
dR iU S | § Fgl S IHT:

1L (@) ®)-Gv) (o) (d)-G)
2. (@) (B)av): (o)), (d)-i)
3. (@) (b)y-Gv): (o)1) (d)y-G)
4. (@) ©)-av) (©-0): (d)-(ui)

Options :

64635071983, 1
64635071984. 2
64635071985, 3
64635071986. 4

Question Number : 123 Question Id : 64635018335 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation ;: Vertical

Correct Marks ;: 2 Wrong Marks :

In order to compute net reproduction rate, which option of data among the following is
NOT needed?

1. Sex ratio at birth

2. Sexratio in reproductive ages
3.  Age specific fertility rates

4. Lifetable
Options :
64635071987. 1
64635071985, 2
64635071988. 3
64635071950. 4

Question Number : 123 Question Id : 64635018335 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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e uoH <% 3t T & forg R § @ Sie-w sifest snfdk gt 82

1. O & gHg [fgad

2. U g H g

3. g fARE ISR

4. Sl dIieTel
Options :

64635071987, 1
646350719838. 2
6463507198%9. 3
64635071990, 4

Question Number : 124 Question Id : 64635018336 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which large state in India has the highest percent of SC/ST population in 2011 Census?

1.  Chhattisgarh
2. Jharkhand

3. Madhya Pradesh

4. Odisha
Options :
64635071991, 1
64635071992, 2
646350719983, 3
64635071994, 4

Question Number : 124 Question Id : 64635018336 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
T8 2011 B TOFT & YR R HRA & 69 98I0 # A1/ 5.9 B oo I69

T B2
1. IR
2. TRYEUS
3. HHYCH
4. eifgmm
Options :

64635071931. 1
64635071932. 2
64635071933. 3
64635071994, 4

Question Number : 125 Question Id : 64635018337 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



wWww.prepp.in .repp

Your Personal Exams Guide

Correct Marks : 2 Wrong Marks : 0
What is the level of population sex ratio in India as per 2011 Census?

1. 950+

2. 940to0 949

3: 93040939

4. 920t0 929
Options :

64655071935 1
64635071936, 2
64635071997. 3
646350719938, 4

Question Number : 125 Question Id ;: 64635018337 Question Type : MC(Q Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

a4 2011 B SOMET & AR HRA 31 S-S $1 [gura o1 32

1. 9509 iy

2. 940 § 949

3. 930 ¥ 939

4. 920 & 929
Options :

646350719395. 1
64635071936. 2
64635071937. 3
646350719938, 4

Question Number : 126 Question Id : 64635018338 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which large state has the second lowest infant mortality rate in 2016 as per SRS data
(Kerala is the lowest)?

1. Pumab
2 Maharashtra

3. West Bengal

4.  Tamil Nadu
Options :
64635071995, 1
64635072000. 2
64635072001, 3
64635072002, 4

Question Number : 126 Question Id : 64635018338 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct Marks : 2 Wrong Marks : 0

yicre®! dolla WUTel (T3, SR, TH) & 3ii@s & JaR 98 2016 ¥ HRA & (50 95 guL sl
H RIg] 75 & gAaH & (P¥a H Falide AaH R-] Hg X )

Options :

646350719893. 1
64635072000. 2
64635072001. 3
64635072002, 4
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Question Number : 127 Question Id : 64635018339 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation ;: Vertical
Correct Marks ;: 2 Wrong Marks :

What percent of India’s, population is above age 60 in 2011 Census?
1.
22
3.

4.

Options :

6-0-6-9

TA=10

8-0-8-9

9-0-99

64635072003. 1
64635072004, 2
64E35072005. 3
64635072006, 4

Question Number : 127 Question Id : 64635018339 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks ;: 2 Wrong Marks : 0

I 2011 P THIUAT F YR TR HRG A 60 T8 F SW P11 P Aol BT W= SIF-91

87
1
gl
3.
4.
Options :

6-0—6-9

10=7:9

8-0-8-9

9-0-9-9

64635072003. 1
64635072004, 2
64635072005. 3
64635072006, 4
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Question Numnber : 128 Question Id : 64635018340 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which one of the following methods is NOT used in life table construction :

1 Leslie’s method

2. Reed and Merrell’s method
3. King's method

4 Chiang’s method

Options :
64635072007, 1

646350720038. 2
64635072009. 3
64£35072010. 4

Question Numnber : 128 Question Id : 64635018340 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Sia aiftrest fmior & iR § 3 foeg fafd &1 Sudiv el fasan sman 22

1. ol fafd

2. s ok o Rl

3. fHufal

4. Tmifely
Options ;

64635072007. 1
646350720038. 2
64635072009. 3
64635072010. 4

Question Number : 129 Question Id : 64635018341 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
The total number of person-years lived after age x in a life table is calculated as

e 1S
1’ I:, - ¥+l
X ngﬂ

2. T =iLx-

Options :
64635072011. 1
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B64E35072012. 2
64635072013. 3
64635072014. 4
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Question Number : 129 Question Id : 64635018341 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

Siia Ikl § oY x & 9y sfad & Sitad a9 & TuFl FHefiied 8 9 59 voR @1 ard

%7

Options :

= T.'C'i'
T,=Y -xl
X +1
=3I
o
8 T
S
27

64635072011. 1
B4E35072012. 2
64635072013. 3
64635072014, 4

Question Number : 130 Question Id : 64635018342 Question Type : MC(Q Option Shuffling : No Display Question Number ; Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0
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Two of the following options are correct to emphasize that birthrates in two population
groups cannot be compared unless :

(a) both population groups use similar denominators
(b) both population groups use the same age distributions

(c) effects of all parameters which are extraneous to birth are excluded from
both

(d) all parameters which are extraneous to birth are standardized, their effectis
adjusted and made common

Choose the correct answer from the codes given below :

1. (@) and (b)

2. (b)and (o)

3. () and(d)

4. (a) and (d)
Options :

64635072015. 1
64635072016. 2
64635072017. 3
64635072013 4

Question Number : 130 Question Id : 64635018342 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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9 fou U fawed & 9 St FUF 59 919 W §9 4 & Gy § I8 § 1% 3 o 9ggl §
o G @l qQT d9a® el &l ol Gbdl & o8 do [ :

(a) SIFI S g &1 U 99H X ((SHIH-eY) 76l §f
(b) Tl SSSH 9EE § Ue 9HM 31y [9axur &1 Sudi fGar man gl

(© ST gFE St & WHIE ol o9 8 fae af &1 Sl 9 18R 8! foedl T

(d) =T faer 9t A9 AMIHd Bl § AR S% WHIT &1 95 #X 3%

SHAME S ST 8
i iGuTu e # 3 95 I o1 9g1 B ;
1. (2) 3R (b)
2. (b) ¥R (c)
3. () MR (d)
4. () 3R ()
Options :

64635072015. 1
64635072016. 2
64635072017. 3
646350720183 4

Question Number : 131 Question Id : 64635018343 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which large state in India has the highest percent of urban population in 2011 Census?

I Maharashtra

2. Tamil Nadu
3. Gujarat

4 Kerala
Options :
64635072019, 1
64635072020. 2
64635072021, 3
64635072022, 4

Question Number : 131 Question Id : 64635018343 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



wWww.prepp.in .repp

Your Personal Exams Guide

T4 2011 I TUAT & HTIR R & 69 98 U0 § Taiis Red S5e 87

1. HeRI

2. dERHIg

3. oId

4. T
Options :

64635072013. 1
64635072020. 2
64635072021, 3
64635072022, 4

Question Number : 132 Question Id ;: 64635018344 Question Type : MCQ Option Shuffling : No Display Question Number ;: Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

In Hajnal's Sigulate Mean Age at Marmiage (SMAM) method. which one of the
following assumptions does NOT hold true?

1. Nochange in marmiage pattem
2. No mortality differentials by marntal status
3. No changein age structure

4. No migration differentials by marital status
Options :
64635072023. 1
64635072024. 2
64635072025, 3
64635072026, 4

Question Number : 132 Question Id ;: 64635018344 Question Type : MCQ Option Shuffling : No Display Question Number ;: Yes
Single Line Question Option : No Option Orientation ;: Vertical

Correct Marks ;: 2 Wrong Marks :

.Eaﬁﬁgﬁfﬁﬁwﬂf% (. wa. U e, faft & Fofifea § 9 si9- gduron w6

1. e @t ugla d 315 uftad= 7=

2. Yafes RIS sRUTY R A B X Tel
3. Sfg-SREH B dls uikadH el

4. dares UK S SRUYAN 8§ S5 a2 A6l

Options :

64635072023, 1
64635072024, 2
64635072025, 3
64635072026, 4
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Question Number : 133 Question Id : 64635018345 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Find the odd-one out based on the basis of respective viewpoints of population
development interrelations

1. Robert Wallace
2.  Ester Boserup
3. Colin Clark

4 Julian Simon

Options :
64635072027. 1

64E35072028. 2
64635072023. 3
64635072030. 4

Question Number : 133 Question Id ;: 64635018345 Question Type : MC(Q Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

T SHI-TdR 3y Ja4i 9 3% SIPRIU & ATYR W Haiiag d 8 faun &1 994 31

1. Ageaay
2. SwlEINy
3. I aoa

4 it REE
Options :
64635072027. 1
64635072028. 2
64635072028. 3
64635072030. 4

Question Number : 134 Question Id : 64635018346 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Which one of the following statement is false?
1. The period prevalence rate is frequently used than the point prevalence rate.

2.  The period prevalence rate is the sum of point prevalence at the beginning
of the period plus incidence of cases during the period.

3. In case of acute illness of relatively short duration, the period prevalence
rate is approximately equal to the incidence rate when period of observation
is sufficiently long.

4. When a population is exposed to the risk of a disease for a limited period of
time only. the incidence rate may be tenmed as the “attack rate’.

Options :
64635072031, 1

64635072032, 2
64635072033. 3
64635072034, 4

Question Number : 134 Question Id : 64635018346 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Yertical

Correct Marks : 2 Wrong Marks : 0

i 8§ § S19-91 $YF T9d 7
1. ol faeme e e faeme R # erlendd oifie wad ST 8

2. 3oy faegmm <X 5t o & Ry 8 R fagmm <X Sik S9 3afd S SR
JIHR B 91K safaadl @1 9o &1 59 ar gl

3. SfUIPd ey GHATEIY @ sl arat stiaurdl stari 814 & |9 3, srafy faeme
X TRTHTT 39 He1-GX & THCT Bl & 918 Y407 S JTHA1aIY Sgd Tl ol |

4. oG SHEE Bl ffd 3eq SfafS g fosdl I § 9f¥d 811 o1 Wa 3gdl & al geAl
I S P "AHTIId S HI I < o Tepal &
Options :
64635072031, 1
64635072032, 2
64635072033, 3
64635072034. 4

Question Number : 135 Question Id : 64635018347 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Match mortality rates given in List—I with their description in List—II :

List-I List—II

(a) Infantmortality rate (i) No. of deaths of infants < 29 days of
age per 1000 life births

(b) Neonatal mortality rate (ii) No. of deaths of infants < 7 days of
age per 1000 life births

{(c) Post-neonatal mortality  (iii) No. of infant deaths < 1 vear of age
rate per 1000 live births

(d) Early neonatal mortality (iv) No. of deaths of infants from 29 to
rate 364 days of age per 1000 life births

Choose the correct answer from the codes given below :
L (2@ (b)) (c)-(i); (d)-Gv)
2. (@) (b)y-@); (e)id); (d)iv)
3. (@i): (®)X0: (-av) (d)-i)
4. (@-0v) (o)) (e)-@): (-0

Options :

64635072035, 1
64635072036. 2
64635072037, 3
64635072035, 4

Question Number : 135 Question Id : 64635018347 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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-1 # fu e g &R B G-I R Rk § iR SR

i1 THI-II

(a) REIGH () TRA I RR] S HA Uid 1000 S & 29
T ol g ea

(b) TauIkI HG & (i) ¥ IR P TEA U 1000 THD 7 Ie Bl
3G | HH

() TY-TIauId Jg &3 (i) o R B FBA Ui 1000 Sifgd &4 &
199 @ g § FH

(d) YE-TawTd 5 X (iv) Ha R 1 F=m W 1000 Sfifed o769 &
29 ¥ 364 &1 I =l ST T FH

Hid ey U e H | ol ST &1 991 DI :

L () (b)) (c)-GiD); (d)-(v)
2. (@) (b)@: (i) (d)y-av)
3. (@) (b)) (c-(v): (d)-()
4 (@-v) (b)) () (-0

Options :
64635072035, 1

64635072036. 2
64635072037. 3
64635072033. 4

Question Number : 136 Question Id : 64635018348 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given an abridged life table, with its usual columns of /,. ,4,.

oLy . I, and e, which

of the following options is comrect for computation of probability of survival from
60 to 85 years of age?

{

1. 5
Iﬂ
2_ ELSS
Iﬂ}
;3 s
fﬁ)
i
€sp
Options :

646355072039. 1
64635072040. 2
64E35072041. 3
64635072042, 4
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Question Numnber : 136 Question Id : 64635018348 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
it e IRl e e <Y 1, 6., .. T, AR e, & 60 a4 ¥ 85 a4 T &l oY
T wiifad g4 P GG B Torn & fo FAafafea § 3 s-ar sw 981 27

Py
i

g |

b
()
J\!
Ln

L2
[ g**l'

o
Options :
64635072039, 1
64635072040, 2
64635072041, 3
64635072042, 4

Question Number : 137 Question Id : 64635018349 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Census of India defines migration on the basis of
(a) place ofbirth

(b) place oflast residence
(c) distance covered

(d) duration of stay at the place of residence

Choose the correct answer from the codes given below :

1. (a)and(c)
2. (a)and(b)
3.  (b)and(c)
4. (c)and (d)
Options :

64635072043. 1
64E35072044. 2
64635072045, 3
64635072046, 4

Question Number : 137 Question Id ;: 64635018349 Question Type : MC(Q Option Shuffling : No Display Question Number ;: Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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HIRd FI T0HT § Yoo &1 FEiiad 8 e R 9 gyt faan s 22

(a) SHIH
b) e e
© wEFT
(d) FER™AR 35 3 Aoy
Hid Y U Pe T Tgl ST D1 TG BT -
1. (2) 3R ()
2. (2) R ®)
3. (b) ¥R (o)
4. () 3R (d)
Options :

64635072045, 1
64635072044, 2
64635072045, 3
64635072046 4

Question Number : 138 Question Id : 64635018350 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Match the items given in List—I with those in List-1I :

List-I List-II
(a) Illegal migrants (D) Migration of Europeans to different
parts of the world
(b) Forced migrants (ii) Syrians in Turkey
(c) Refugees (i) Slave trade
(d) Voluntary migrants (1v) Overstaying beyvond official sanction

Choose the correct answer from the codes given below :
L (@Gv): (b)), (c)-Gi): (@)
2. (@-@): ®)G): (GiD): (dD-Gv)
3. (@-a): (b)-): (i) (d)-Gv)

4. (@) (b)) (c)-0); (d)-v)
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Options :
64635072047, 1
64635072048, 2
64635072049, 3
64635072050. 4

Question Number : 138 Question Id : 64635018350 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

-1 fw o w11 A T T el ¥y g s

i1 TEI-11
(2) 3aY yaTh () W9 F il @ 9y & fafvm w3
Yo+
(b) S VAl (i) bl 8 Hifkars an
(¢) =Romi (i) ST SR
(d) wfess yari (v) SN T e & sife gee
At feu e e A T 5l IR &1 99 DI -

L (a)-Gv); (b)-(D); (e)-); (d)-@)
2. (@) ®b)(): (i) (d)y-Gv)
3. (@) ()-0): (o)), (d)y-Gv)
4 (@) )G (e (d-av)

Options :

64635072047, 1
64635072048, 2
64635072049. 3
64635072050, 4

Question Number : 139 Question Id : 64635018351 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Match the items in List—I with the names of the authors in List—1I1 :

List—I List—II
(a) Essav on Principles of (1) John Grant
Population
(b) Bills of Mortality (ii) Thomas R. Malthus
(¢) Limits to Growth (1it) G. Hardin

(d) The Tragedy of the Commons (iv) P. Ehrlich and A. Ehrlich

Choose the correct answer from the codes given below :
1L @-@): (b)) (i) (d)-av)
2. (@) GG (e-av); (-0
3. (au); (b)) ()-Qv). (d)—(ui)
4. () (b)) (c)-(v); (d)-()

Options :

64635072051, 1
64635072052, 2
64635072053, 3
64635072054, 4

Question Number : 139 Question Id : 64635018351 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

-1 # feu 7wl &t gEi-11 # fou 7o Aet & Ty gaike S ;

TeI-1 THI-1I
(a) UF A fiiduey ffpagase (@) S 96e
(b) 1S9 3AE ATl (i) YA 3R A
(¢) faftey e wiy (i) <. s
(d) T SOISH SHH HIAw (iv) i ugRitre ud U, ueieie
AR feuu e | 4 98l SR F1 394 HifSU:

L @-@): (b)H): ()(); (d)-v)
2. (@) (o)) (c)-v); (d)-Q)
3. (au); (o)-Q) ()-Qv). (d)—(ui)
4. (@A) (b)) (o). (d)-)

Options :
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64E35072051. 1
64635072052. 2
64635072053. 3
64635072054, 4

Question Number : 140 Question Id : 64635018352 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which among the following does NOT match with mercantilist viewpoints on
population growth?

1.  Population growth is essential forincrease in national revenue
2.  Expanding trade
3. Restriction on immigration

4. Penalties fornon-marriage
Options :
84635072055, 1
64635072056, 2
64635072057, 3
64635072058, 4

Question Number : 140 Question Id : 64635018352 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

FrafEa & S s, s ofg 3 Sefia aftfsus e 3 & T8 @ g2

1. S g g aea d gie & R sowe §
2.  OOURBXIR

3. g W Ufasy

4. OB AFHARES
Options :
64635072055. 1
64635072056. 2
64635072057. 3
64635072058. 4

Question Number : 141 Question Id : 64635018353 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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**Each society at each point in history has its own law of population.”” The statement
forms the basis of which of the following :

1.  Marxian perspective
2.  Condorcet’s utopian ideas
3. Neo-Malthusian viewpoints

4. Ancient thinkers on population

Options :
64635072059, 1

64635072060. 2
64635072061. 3
64635072062, 4

Question Number : 141 Question Id : 64635018353 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
SiIer & Tl I9 R TdS JHN &I oI9S 3§ S8id W F B o el Sad Hud
Frofefaa § 3 fege smR 22

1w Rl

2. DISRYC & Gy f4ar

3. FO-HI/9aId] SEPIu

4. wEE el uEi [dERe

Options :
64635072055, 1

B4E350720€0. 2
64635072061. 3
64635072062, 4

Question Number : 142 Question Id : 64635018354 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

Which among the following is the correct sequence of mega cities of the world
arranged in descending order of population size in 2015 as per World Urbanization

Prospects, 20187
1. Tokyo. Delhi, Shanghai, Mexico City
2. Delhi. Tokyo. Shanghai. Mexico City
3.  Delhi, Mexico City, Tokyo, Shanghai

4. Delhi, Shanghai, Tokvo, Mexico City
Options :
64635072063 1
64635072064, 2
64635072065, 3
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Question Number : 142 Question Id : 64635018354 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

ad 2018 Tt oy FgdieRor IHGTT (T, g, 9,) RUE & ER 2015 § S9SH HHR &

el HH § 19y F HeTRI &1 (A9fafEa § 3 981 9 SH-91 87

1.

2

3.

4.

Options :

64635072063. 1
64635072064, 2
64635072065, 3
64635072066. 4

Question Number : 143 Question Id : 64635018355 Question Type : MC(Q Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

Match the source of demographic data given in List—I with the agency responsible for it

given in List—II :

List—I

(a) Sample registration system

(b) Demographic survey

(c) Service statistics

(d) Coverage evaluation survey

@)
(it)

(iii)

(iv)

List—II

UNICEF

Ministry of Health and Family
Welfare

Intemational Institute of
Population Studies

Office of Registrar General of
India

Choose the correct answer from the codes given below :

L

2

3

4.

Options :

(@) (©)v): (c)-GiD): (D)
(a)-@): (b)-(); (-v): (d)—ii)
(@)-(iv): (b)(ui): (c)-Gi): (1)
(@)1 (b)-(v): (- (d)-(uD)

64635072067. 1
646350720638. 2
64635072063. 3
64E35072070. 4



wWww.prepp.in .repp

Your Personal Exams Guide

Question Numnber : 143 Question Id : 64635018355 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
T § SRR o wifkseia siwst F dia 3 -1 § 5o R Soeard ik 3
THICTHT DI ;

Tal-1 TI-11

() WiceR Yoia womet Q) IRE
(b) TP Taur () RO 9N UNRGR  Heur
AT
(c) Ta-ga<fi sfwe (i) SfRIPE SHAdSm  SEEd
TR
(d) Havol Gedid Fae (iv) HId® Helioiigs &l $EIY
A feu U e § I el IR &1 994 FIfoU -

Lo (@G); (b)yav); (c)-(ii): (d)y-@)
2. (@-0): (o)) (c)-uv): (d)-GD)
3. (@Hv) ()b (e)-G): (d)-0)
4 (@H): (b)-av): (e)-@): (D))

Options :

64635072067, 1
64635072068, 2
64635072069, 3
64635072070, 4

Question Number : 144 Question Id : 64635018356 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Urban transition in the less developed parts of the world differs from the experiences of
developed countries in which respect?

(a) The scale and pace are unprecedented
(b) Rural tourban migration is the largest contributor to urban growth

(c) There is a mismatch between average income levels and pace of urban
transition

(d) Nature and direction of urban transition is more linked with global economy
now than before

Choose the correct answer from the codes given below :

1. (. ()and (0)

2. (a).(c)and(d)

3. (b). (c)and (d)

4. (a) and(c)
Options :
64635072071. 1
64635072072. 2
64635072073. 3
64635072074. 4

Question Number : 144 Question Id : 64635018356 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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oy & =a [Aehya 4 & zgd Jwao Fefai@a § 3 fog Jded | iy o=t & osd
YT I i BT 22

(2) EFT AR IR YT oIl 8
(b) =Ed of@ & urdivr I 2t vewH &1 9aiie dive BT @
(€) 3 3 wRI HR I Tpau 1 A S S S8 i 8

(d) EWWW@TWWE&MW%%HW%HUW

did eY T B § gl ST D1 941 DI ;
PC:
. (2. ®) SR

2. (@), (@ 3R (d)
3. (b). (o) AR (d)
4. (a) 3R(©

Options :

64635072071, 1
64635072072, 2
64635072073, 3
64635072074, 4

Question Number : 145 Question Id : 64635018357 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which one of the following methods should be preferred for estimation of population of

India for the year 2015 (Assume population projections of expert committee are not
available)?

1. Estimate the arithmetic rate of population growth for the period 2001-2011

(Census years). Use the rate of growth to project population from 2011
to 2015

2.  Estimate the geometric rate of population growth for the period 2001-2011

(Census vears). Use the rate of growth to project population from 2011
to 2015

3. Estimate the exponential rate of population growth for the period 2001-

2011 (Census vears). Use the rate of growth of project population from
2011 to 2015

4. Use birthrates and death rates for the mter-Census period 2001-2011.

Determine the rate of population growth (birthrate-death rate) and use it to
project population from 2011 to 2015
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Options :
64635072075, 1

64635072076, 2
64635072077. 3
64635072073. 4

Question Number : 145 Question Id : 64635018357 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

a4 2015 H HRd @I SIS & e & 1w dawes Y o S aifte @ ifee fas
fers Sl G SUCTey ST a1 S TESdl- UAT SUATe T8 2)?

1. g9 2001-2011 (SFFTOMT 98) @ 3@ § o99ed gie & ASRE & B
TS DI 59 X P IUENT a9 2011 | 2015 0P DI TS Bl
SEM T & Y B

2. @4 2001-2011 (SFTUMAT OY) & F1C SFEEdl 9ig &1 SMiHlds 32 $1 Had
HIoTY| T4 2011 F 2015 TP DI STHSHN DI HTHM WM P 07 59 Jiek G Bl
S9N HY|

3. ¥ 2001-2011 (SFRTUFTIY) & A0 S gig & ldics &Y &l S{Idhe Hifod|
gzoﬂﬁzmswaﬁm' &1 HTHM T & U 59 gf X &1 g
|

4. T4 2001-2011 @I Sid: THIUMAT S@IY F U T79 X 3R I & ST SWM
HIfoTU | SS9 gfg P G FI STURU HIY (GHeI-59 §3) iR a4 2011 9
2015 TP B S-S &1 SATHA T & (07 SHSH1 Suahi S|

Options :
64635072075, 1

64635072076, 2
64635072077. 3
64635072073, 4

Sub-Section Number: 7
Sub-Section Id: 646350897
Question Shuffling Allowed : Yes

Question Id : 64635018358 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (146 to 150)
Question Label : Comprehension
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Direction : Answer on the basis of the table given below :

Table : Population Growth, Crude Birth and Death rates and Sex ratio : Census 1901-2011

Year | Population % %Annual | Crude | Crude Sex

(Million) | Decadal | Exponential | Birth | Death | Ratio

Growth | GrowthRate | Rate Rate
Rate

1901 238-4 = = 45-8 44-4 972
1911 252-1 5-75 +0-56 49-2 42-6 964
1921 2513 ~0-31 — 0-03 48-1 472 955
1931 279-0 11-00 +1-04 46-4 36-3 950
1941 3187 14-22 +1-33 452 31-2 945
1951 3611 13-31 +1-25 39-9 27-4 946
1961 439-2 21-64 +1-96 41-7 22-8 941
1971 548-2 24-80 +2-20 412 19-0 930
1981 6833 24-66 +2-22 37-2 150 934
1991 8464 23-87 +2-16 32-5 11-4 927
2001 1028-7 21-54 +1-97 24-8 89 933
2011 1210-9 17-70 +1-63 21-8 71 943

Sub questions

(Source : Registrar General and Census Convnissioner india, 2011)
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Question Number : 146 Question Id : 64635018359 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
In which of the following vears, national rate of population growth was maximum?

1.

2.

ES

Options :

2001

1971

2011

1991

64635072073. 1
64635072080. 2
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B64E35072081. 3
64635072082. 4

Question Number : 147 Question Id : 64635018360 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

In which of the following decades, maximum absolute decline in Crude Birth Rate
(CBR) took place?

1. 1941-1951

2 1991-2001

3. 1971-1981

4. 1901-1911
Options :

64635072083. 1
64635072084. 2
64635072085. 3
64635072086. 4

Question Number : 148 Question Id : 64635018361 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Yertical

Correct Marks : 2 Wrong Marks : 0

During which of the following decades. rate in change of sex ratio has been highest
compared to the preceding decade?

1. 2001-2011
2. 1921=193]
3. 1911-1921
4. 1981-1991

Options :
64635072087, 1

646350720838. 2
64635072083. 3
64635072090, 4

Question Number : 149 Question Id : 64635018362 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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During which of the decades given below, maximum absolute decline in Crude Death

Rate (CDR) took place?
1. 1901-1911
2. 1921-1931
3. 1931-1941
4 1941-1951
Options :

64635072031. 1
646350720392, 2
64635072033. 3
64E35072094. 4

Question Number : 150 Question Id : 64635018363 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
From which of the following decade, Census (decadal) growth rate started declining?

1. 1921-1931

2 1211-1921

3. 1941-1951

4  1971-1981
Options :

64635072035. 1
64635072036, 2
64635072037. 3
64E35072098. 4

Question Id : 64635018358 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (146 to 150)
Question Label : Comprehensic:n
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= : 1 & s afte o wwar wy ¥ IR i -

i - S gig, SrRNTYa o= SR gog &% U9 foPTurd - 1901-2011 SIT0MT

ay ooedl | SRP™ | NS Udie | RNy | SRMYd | Rfmue
(Pl (g RPI| FERAT | TR | TR
H) yfererd ufer=rd
1901 238-4 ~ - 45-8 44-4 972
1911 252-1 5:75 +0-56 49-2 426 964
1921 251-3 ~0-31 ~ 0-03 48-1 472 955
1931 279-0 11-00 +1-04 46-4 36-3 950
1941 318-7 14-22 +1-33 452 312 945
1951 361-1 13-31 +1-25 39-9 27-4 946
1961 439-2 21-64 +1-96 41-7 22-8 941
1971 548-2 24-80 +2-20 41-2 19-0 930
1981 683-3 24-66 +2-22 37-2 15-0 934
1991 846-4 23-87 +:2:16 325 11-4 927
2001 1028-7 21-34 +1-97 24-8 8-9 933
2011 1210-9 17-70 +1-63 21-8 7-1 043

Sub questions

(TIT : YT & TETaaiae e a0 Hg&, 201 1)
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Question Number : 146 Question Id : 64635018359 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

fFrafeiea # 3 fog au J orsie gig 1 WiHfde & Faiys Ui?

1. 2001

2. 1971

3. 2011

4. 1991
Options :

64635072079. 1
64635072080. 2
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B64E35072081. 3
64635072082. 4

Question Number : 147 Question Id : 64635018360 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

FoiiEd 8 9 2H-9 a9 § SEiiTd o9 X (3. 8. 3R, § it e fRee g =

TS?
1. 1941-1951
2. 1991-2001
3. 1971-1981
4. 1901-1911
Options :

64635072083. 1
64635072084, 2
64635072085. 3
64E3507208E. 4

Question Nuinber : 148 Question Id : 64635018361 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

fFraftfEa 53 f59 oo % SR Rivgue & ufitad =1 o gdad] eve #1 gomn § Jaifis

Tl?
1. 20012011
2. 1921-1931
3. 1911-1921
4. 1981-1991
Options :

64635072087. 1
646350720838. 2
64635072089. 3
64635072090, 4

Question Nuinber : 149 Question Id : 64635018362 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Foaftiad # & o o=@ & R Smila 5 &X (0. 1. 3iR) ® FRue FRige @il w2

1. 1901-1911

2. 19211931

3. 1931-1941

4. 1941-1951
Options ;

64635072031. 1
646350720392, 2
64635072033. 3
64635072094 4

Question Number : 150 Question Id : 64635018363 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

WU & (59 GRI% ¥ RIS Sraedl gl & el 13 gal?

1. 1921-1931

2. 1911=192]

3. 1941-1951

4. 1971-1981
Options :

64635072035. 1
64635072036, 2
64635072037. 3
6463507203938 4



